®
YEIT) i

JI
2008 Collection



NT D114731

PEARENEELOSL

% #% I H e

CERTIFICATE OF

g g |TE| resuanyesg
£ " ,

|¥ X RINGRO JIACHENG HYDRAULIC COLLTD
=]

_— —

T L UL L
|EahEs | gop

—— =

b A il TN RE B RS L ]
LR R E. TR, BN

APPROVAL %, MINEREE RS RS ONA

TR =T
FOR EXTERPRISES WITH FOREIGN TRADE RIGITS E RN,
IN THE FEOPLES REPUDLIC OF ClHINa
i Fe . WOV (ORI - B
A Sacaine EEntET,
e L N 5 . E
# B X B gaenusmorpoapost T WALRICMEIE. W ., BOA&N
£ A M TR asomang | 3 eenzanwnn. AKEs. o
el T Bk TANARETIEE. &
L E B M 03 ip s H o
[k 3
- g AT P D P
=5 (e % | e
ACL l‘*.-:.:g
: CERTIFICATE OF REGISTRATION
B % fi i B 8 W & g Bing Mt A4
EEw,_ FELTNL o rOEATE
& FRLLELAN tl- Hin
Eman FAGE " i '. - -y ’@
M5-AHT
T I TIT I_.';. 3 Terod @
FEeuw faw fun 2, i @

HPSA

e L et L

e

P fada

S




/Aa&%%ma’qﬁ%iﬁﬁwﬂé—%ﬁd‘l\l BERNRBRKRSE —TEREZE,

TNERKEBATFEERBAE.

%W&Fﬁﬁ“jlk$w%¢ BRrRE BT ShE 2
ERZz—, HERZHATURBRKEGFTURBEKEE, MRFKAE,

AFWE—ASERNEEARMBRIAM, FHTEIHE, B3R SHMAIIE
BERNTRELE TR EFZH.

2002F A F#EiFI1S09001 REIANIE, A TEN T AT RMPE L E
L BAIXETIVAAXY 2% X, HHEFRA15000M° £7= F
11500M°,

RWE— AR EKE., SRHEFNAEEYS, BBRFERTXK,
T elE, ABAPREERANm, E!Eﬁ?%ﬂ?iﬁn@ia’\]%ﬁ

FEK. B EH

Brief Introduction

QOur company is located between beautiful west lake bank and East sea fine deep-
water Habour (Ningbo Habour) lying at lower reaches of Hangzhou Gulf and located

south of the longest cross-sea bridge in Asia. Transport is convenient.

Our company was established in 1985 which now is one of the famous manufacture
in hydraulic pipe connector. In past years, company was always striving for survival,
development, trust on the basis of equality. The company have a lot of high diathesis
managers and employees. It is always innovating and pursuing eximious idea to live in
furious market compete.

Our company had obtained the certificate of ISO9001 in 2002. Company had built
new workshop in industrial estate which floor space is 1500M?, and workshop is
11500M°.

The company will be keep improving run true to form. It will supply excellent
products to win the market and client’s trust by innovating and advancing with times
working idea.

BOARD CHAIR MAN: ZHENG YI-FENG




HOSE FITTING

- ®

m'- www.kandun.com

543 H 5 HOSE FITTING INDEX
HER B EZL SWAGED HOSE FITTING

m = Ferrule

[ o} o

00110 03310 00200 00210 00400 00401 00TFO
P13 P13 P13 P13 P14 P14 P14

B ABBRIFEEE Flat Seal

= A ey o =
FomD M = -
| 11 T B | N & L
R g S -
10311/10312 20211/20212 20231/20232 20241/20242 20291/20292
P15 P15 P16 P16 P16

| A FIBRAI60°5E B Hf 60° Cone Seal

,_—-_'-..-. . s . A ) s
uul..u‘.. 4 RHHEEL x\s, p=
o b4 =1
10611/10612 20611/20612 20641/20642 20691/20692
P18 P18 P18
N, .
B A HIRSIKE &= Multiseal
[ (8111118 R JL
- X BT
20111/20112 20141/20142 20191/20192
P19 P20 P20

B N HRL 744 B 74° Cone Seal

PtV — - =TT =

f T 1 s [

vibrmenan e o (

(R Hpm &5 |

10711/10712 20711/20712 20741/20742 20791/20792
P21 P21 P22 P22

B A HIREI90°HE B H 13 4R 90° Cone Seal

TR ¥ (T
10811L
P22

B A HIRGRAE R HE R T 24° Cone O-ring Seal L.T.

e )

i . T S TZ“'EA, W ]

R ] P S i

10411710412 20411/20412 20441/20442 20491/20492
P23 P24 P24 P25

e = ﬁ‘az":_—m-nm. P Tl T {
]J]._ﬁlli[i.l.::_; W BT, (’\\ f_T
10511/10512 20511/20512 20541/20542 20591/20592
P23 P25 P26 P26

B A FIRLD24HEIRE B E B R T 24° Multiseal L.T.

r:‘i-'] o b=

20411C/20412C 20491C/20492C
P27 P27

- ®
www.kandun.com m'-

B33 H 5% HOSE FITTING INDEX
HMER R EEL SWAGED HOSE FITTING

BN FIRSDAHEBRE 2 E T RS 24° Multiseal H.T.

IT.’.'i:—.:....,, —— i

[Tl N o =t

— N ‘-_T

20511C/20512C 20541C/20542C 20591C/20592C
P27 P28 P28

B A HREEE Standpipe Straight

50011/50012 50041/50042 50091/50092 NL/NS RL/RS
P30 P30 P32 P28/29 P29

B EERLOF B B E BSP O-Ring Seal
l_}_{.]l"...li';.. 1

12211/12212
P32

W EIEL BSPT

13011-SP/13012-SP
P33

B S ERLERE 2 H BSP Multiseal

e

L] %
22111/22112 22141/22142 22'\.91/22192
P34 P35 P35

B EERL H & Hf BSP Flat Seal

22211/22212 22241/22242 22291/22292
P36 P36 P36

W B EL60°HE | 2 BSP 60° Cone Seal

: g i— ] Pl s e
e B s 1 o T Tt I? T y ‘l'lb o |_| 1
L b Lt TN & 4 B fu i
12611/12612 12611A/12612A 22611/22612 22641/22642 22691/22692 22611D/22612D 22611D-SM/22612D-SM 22691K/22692K
P33 P34 P37 P37 P38 P38 P38 P39

B X HISAEIRLOTL B & 3 SAE O-Ring Seal

Lot
16011/16012
P39

LES el

Lt |
15611/15612
P39

O
<
B
l=
=
w
9
o
RN



HOSE FITTING

- ®

- ®
m'- www.kandun.com www.kandun.com m'-

(]
<
=
=
w
W
A
Q
x

A5 H 5% HOSEFITTING INDEX A5 H 5% HOSEFITTING INDEX
MER G ERL SWAGED HOSE FITTING HER B SWAGED HOSE FITTING

B EFICIRL74° A B4 JIC 74° Cone Seal B gk Staplelok
P T — — ) - P T = L — el
(Lo ) &s [ mml_n“;"- m__x_.l,nu.. ] T T ol T
16711/16712 26711/26712 26741/26742 26791/26792 26711D/26712D 26711D-SM/26712D-SM 26791K/26792K 60011/60012 67011/67012
P40 P40 P41 P41 P42 P42 P42 P52 P53

f 2y [t [ ¥
RIS TS Ry o TR L= B
. . 70011/70012 700M 72011/72012 7208
17811/17812 27811/27812 27841/27842  27891/27892 P53 P53 psa ps4
P43 P43 P43 P43

W = H IR AR R 1K NPT Awivel

W £ FIORFSIRLL - [ & ORFS Flat Seal

- ST e s . o

T TITTITTR e STHITITITR B i WEITTT -
14211/14212 24211/24212 24241/24242 24291/24292 15611SW 15691KSW
P44 P44 P45 P45 P54 P54
I S5 HNPSMERLL60°4E [ & £ NPSM 60° Cone Seal B 3= HISAERRSU e # #E 3k SAE O-Ring Boss Awivel
{4 e S B 7
21611/21612 21641/21642 21691/21692 16011SW '\6‘0‘9‘1KSW
P46 P46 P46 P55 P55
B SAER =R RS Sae Flange L.T. B WU &Sk Double Connection
e — i ¥ L O— [
il _f[-:_]ﬁl__'_' & Tj Rum _ s LTI TGRS 111 AT
90011 90012
87311/87312 87341/87342  87391/87392 FL pss pss
P47 P48 P47 P49
B SAESX =R E R 5! Sae Flange H.T.
o - . PN E N
i = % FIR SN E L INTERLOCK HOSE FITTING
87611/87612 87641/87642 8‘7691/87692 FS
Pag P48 P49 P549
B B §1552 Flange B E Ferrule
o il
88111/88112 88141/88142 88191/88192 ’ : Ll
P49 P50 P50 00621 00621-R15
P57 P57
B B R AFIRL60°4E FE GAS 60°Cone Seal W SEFRLL British
. . e e = — v, B == S
Ly HHUE Ly = L s T R GBI R g l {""ﬁ;,}_.._.__:
e X BT s
18611/18612 28611/28612 28641/28642 28691/28692 13013-5P 12613 22613-W 22643-W 22693-W 22613-ORW
P57 P57 P58 P58 P58 P59
B B R FEBIRL60° T GAS 60° Cone Seal W 5B NPT W SE HIORFSIRLL T &3 ORFS Flat Seal
m.;auu ] &y - e - (e e . I
29611/29612 29641/29642 29691/29692 12?;3 24213-W 24243-W 24293-W
P51 P52 P52 P59 P59 P59




HOSE FITTING

- ®

m'. www.kandun.com

m )®
www.kandun.com m'.

B b:3).H 5 HOSE FITTING INDEX
FI IR EESL INTERLOCK HOSE FITTING

W EHIICIRL74°Z 3 JIC 74° Cone Seal

i I- 1]
ET
26713-W 26793-W
P60 P60

B N HIES24°HE B E R Metric 24° Cone Seal H.T.

(W BT &%

! It
10513 20513 20543 20593
P60 P60 P61 P61

B SAEYL = SAE Flange

87313 87343 87393 87613 87643 87693
P62 P62 P63 P63 P63 P63

A AT B
HOW TO ORDER HOSE FITTING

L————Mﬂﬁ%

Material Sign

HEIRS
Hose Dash

R LB B A SH R AR5
Fitting Thread Or Dimension Dash

¥ KR %= Fitting Series Number

B 9000PSISA = 9000PS| Flange

B S EBE$E Double Connection

#HEL Material
K= Sign

HENFRAE Hose DN
B EFRE Hose Dash

B%4¥ Carbon Steel

4l Copper
BR

12 16 20 22 25
-08 -10  -12 | -14 | -16

55N Stainless Steel
SS

40 45 50 64

-20 | -24 | -28  -32 40

87913 87943 87993 90013
P64 P64 P64 P64
S Partant \; =
T HF R E L REUSABLE HOSE FITTING
[
00518 15618-R5 22618D-R5 16718-R5
P66 P66 P66 P66
e i LI |
26718D-R5 -2-6798D7R5 17818-R5 17818D-R5 26718-R5T
P67 P67 P67 P67 P67
AR EZL SOCKETLESS HOSE FITTING
IVFEN B 1K
T P : -
L_J'ﬁ'l'll .—-'!_'lll LI HHL f":'"“
13011-SP (PO) 15611-PO 12611-PO 22611-PO 22691K-PO
P69 P69 P69 P69 P69
P il | P, X
THTR[RIaTRY P e
16711-PO 26711-PO 26791-PO 27811-PO
P70 P70 P70 P70

10

B g G1/8" G1/4"  G3/8" G1/2" G5/8" G3/4" G1'x11 G11/4" G1.1/2" G2"X11
BSP Thread X28 X19 X19 X14 X14 X14 X11 X11
IR R1/8" R 1/4" R3/8"  R1/2" R3/4" R1'x11 R1.1/4" R1.1/2" R2"X11
BSPT Thread X28 X19 X19 X14 X14 X11 X11
T IB L zZ1/8"  Z1/4" Z3/8"  Z1/2" Z3/4" 71" Z11/4" Z1.1/2" 72"
NPT Thread X27 X18 X18 X14 X14  x115 X115 X115 X115
JICHR LT 7/16" | 1/2" | 9/16" | 3/4" 7/8" | 1.1/16" 1.5/16" 1.5/8" 1.7/8" | 2.1/2"
JIC Thread X20 X20 X18 X16 X14 X12 X12 X12 X12 X12
SEL4n
’f—m.% 1/2" 3/4" 1" 1.1/4"  1.1/2" 2"
Flange Size
5= Dash -02 -04 -05 -06 -08 -10 -12 -16 -20 -24 -32

. AFIRGURS SBLUME—
Note:The dash of metric thread accords with the O.D of thread.

FRoERBl. 15611R S, #KI280521/2'X14, TR BERERE A 12mm, FABNGIERESL, £S415611-08-08, WATE
MHE, RSH15611-08-08SS.

Example:Fitting series is 15611, fitting thread is Z1/2" X14, hose bore is 12mm and is made of carbon steel the number is
15611-08-08, if made of stainless steel, the numberis 15611-08-08SS.

A VLRPRSATHRARE. 20FFTEERERSBH20212-xx-xx

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20212-xx-xx.

11

[C}
=
E
w
w
b
[}
=




W

w

W

k andwun

C

()

m

a )®
www.kandun.com m'-

00110 SAETO0RIAT/EN 853 1SN 2= 51
FERRULE FOR SAE100 R1AT/EN 853 1SN HOSE

L
F = “®e & Hose Bore JR=F Dimensions
Part No. AFRAITE DN L
00110-20 32 59
00110-24 40 74
00110-32 50 78
03310 SAE100R2AT/EN 853 2SN R EE(E
FERRULE FOR SAET100 R2AT/EN 853 2SN HOSE
L ®e & Hose Bore JX=F Dimensions
Part No. AFRA1E DN L
S EE I ST ST
MmN 03310-03 5 23
03310-04 6 30.5
03310-05 8 30
03310-06 10 32
03310-08 12 34
03310-10 16 37
03310-12 20 42
00200 SAE100R2AT/EN 853 2SN 2515
FERRULE FOR SAET100 R2AT/EN 853 2SN HOSE
L
7, ®e %% Hose Bore JX=F Dimensions
Part No. AFRA1E DN L
00200-20 32 59
00200-24 40 74
00200-32 50 78
00210 SAE100R2AT/DIN20022 2SN # ‘& &1
FERRULE FOR SAE100 R2AT/DIN20022 2SN HOSE
®e & Hose Bore JR=F Dimensions
Part No. NFRATE DN L
00210-03 5 27
L 00210-04 6 30
00210-05 8 31
00210-06 10 32
00210-08 12 34
00210-10 16 37
00210-12 20 43
00210-16 25 50
00210-20 32 59
00210-24 40 74
00210-32 50 78

13

)
<
g
=
[
g
I
2
g
N
3




- ®

m'. www.kandun.com

- ®
www.kandun.com m'.

&)
<
=
=
v
g
I
2
g
=
A

00400 4SP4SH/12-16,R12/06-16 & ET(E
FERRULE FOR 4SP, 4SH/12-16,R12/06-16 HOSE

10311 RHISNELCFEOLE#E S
O-RING METRIC MALE FLAT SEAL

P

= 4 & Hose Bore =T Dimensions
Part No. AFRAFE DN L
L 00400-04 6 37.5
> = 00400-06 10 39
00400-08 12 41
00400-10 16 43
00400-12 20 51
00400-16 25 61.5
00400-20 32 67.5
00400-24 40 75
00400-32 50 79
00401 45H, R12/32 e &7
FERRULE FOR 4SH, R12/32 HOSE
L
—~
= 5% Hose Bore JX=F Dimensions
FEIEINE AFRAFE DN L
. - 00401-20 32 59
00401-24 40 74
00401-32 50 78
00TFO = =7
FERRULE FORTEFLON HOSE
"= 7% Hose Bore JX~f Dimensions
L Part No. AFRA1E DN L
00TF0-03 4 27.5
A 00TF0-04 6 30.7
00TF0-05 8 306
00TF0-06 10 32.1
1 T ] 00TF0-08 12 343
00TFO-10 16 37
00TF0-12 20 428
00TFO-14 22 427
00TFO-16 25 50.8

%%REFJB/T988 IS = 124y E & Hose Bore R~} Dimensions
Part No. Thread E AFRA1E DN A S1
10311-12-04  M12x1.25 6 225 14
10311-14-04  M14x1.5 6 23.5 17
10311-16-04  M16x1.5 6 235 17
10311-16-05  M16x1.5 8 235 17
A 10311-16-06  M16x1.5 10 23.5 17
10311-18-06  M18x1.5 10 235 19
10311-22-05  M22x1.5 8 27.0 22
10311-22-06  M22x1.5 10 26.0 22
w| 10311-22-08  M22x1.5 12 26.5 22
v I " | |J 10311-27-10  M27x1.5 16 315 27
= R 10311-30-12  M30x1.5 20 335 32
S| 10311-36-12  M36x2.0 20 35.5 38
10311-36-14  M36x2.0 22 355 38
10311-39-16 = M39x2.0 25 39.0 41
10311-45-20  M45x2.0 32 445 46
10311-52-24  M52x2.0 40 47.5 55
10311-64-32  M64x2.0 50 52.5 65
20211/20211-T &N EZ A
METRIC FEMALE FLAT SEAT
S £ REF.GB/T 9065.3 = i@sr E - U Hose Bore JR=F Dimensions
Part No. Thread E AFRANTZ DN C S2
20211-10-02  M10x1.0 4 6 14
20211-12-03 | M12x1.25 5 8 17
C 20211-14-04  M14x1.5 6 8.5 19
20211-14-05 | M14x1.5 8 8.5 19
S 20211-16-04  M16x1.5 6 8 22
R 20211-16-05 = M16x1.5 8 8 22
. 20211-16-06  M16x1.5 10 8 22
| J_ﬁ-u—l | “ " “ " | I 20211-18-05T M18x1.5 8 8 24
’ 20211-18-06  M18x1.5 10 8 24
UY; 20211-20-06T  M20x1.5 10 10 24
S2 20211-20-08  M20x1.5 12 10 27
20211-22-06T M22x1.5 10 10 27
20211-22-08  M22x1.5 12 10 27
20211 20211-22-10 | M22x1.5 16 10 27
20211-24-08T M24x1.5 12 11 30
20211-24-10 | M24x1.5 16 10.5 30
20211-27-08T  M27x1.5 12 10 32
20211-27-10T) M27x1.5 16 10 32
20211-30-12  M30x1.5 20 11 36
20211-33-14 = M33x2.0 22 13 41
20211-36-12T  M36x2.0 20 13 41
20211-36-14T  M36x2.0 22 13 41
20211-39-16T  M39x2.0 25 13 46
20211-42-20  M42x2.0 32 15 50
20211-45-20T  M45x2.0 32 15 55
20211-52-24T  M52x2.0 40 17 60
20211-T 20211-60-28T M60x2.0 45 20 70
20211-64-32T | M64x2.0 50 23 75

14

15

S}
<
IS
=
v
g
I
2
g
=
G



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

20231/20231-T 30° ~ il pyiEar e m 20291/20291-T 90° » & Reazr
g 30° METRIC FEMALE FLAT SEAT 90° METRIC FEMALE FLAT SEAT 9
E 22 REF.GB/T 9065.3 %2 REF.GB/T 9065.3 re 22y £ #EHoseBore R Dimensions E
§ Part No. ThreadE  /A#RA2 DN H S2 §
2 20291-12-02 M12x1.25 4 30.5 17 R
< <

20291-12-04  M12x1.25 6 335 17
20291-14-04  M14x15 6 34.0 19
20291-14-05  M14x15 8 37.0 19
®e 1247 E % Hose Bore JR~F Dimensions 20291-16-04 M16x1.5 6 35.0 22
PartNo.  Thread E  /AFRA/E DN g - 20291-16-05  M16x1.5 8 380 2
2073125.08 | Mool 5 > s > 20291-16-06  M16x1.5 10 403 2
20231-27-10T  M27x1.5 16 15.1 32 20291-18-05T] M18x1.5 8 39.0 24
20231-30-12  M30x15 20 186 36 20291-18-06 | M18x1.5 10 41.3 24
20231-36-12T  M36x2.0 20 188 a1 20291-22-08 | M22x1.5 12 48.0 27
20231-39-16T  M39x2.0 25 178 46 20291-22-10 | M221.5 16 >3.0 27
023145.20T| M50 5 20 s 20291-24-08T  M24x15 12 455 30
20231-5224T  M52x2.0 40 218 60 20291-27-04T] M27x1.5 6 35:5 32
20291-27-08T  M27x15 12 46.0 32
20291-27-10T  M27x15 16 51.0 32
20291-30-12 M30x1.5 20 635 36
P a— 20291-33-14  M33x2.0 2 65.0 41
= 20291-36-14T  M36x2.0 2 610 41
' ' 20291-36-16  M36x2.0 25 700 41
_ 20291-39-16T  M39x2.0 25 675 46
20291-4220  M42x2.0 32 825 50
20291-45-20T  M45x2.0 32 785 55
20291-52-20T  M52x2.0 32 785 60
20291-52-24T  M52x2.0 40 92.0 60
20241/20241-T 45 5 NE2CFH 20291-T 20291-60-28T  M60x2.0 45 106.5 70
45° METRIC FEMALE FLAT SEAT 20291-64-32T  M64x2.0 50 1133 75
% J£REF.GB/T 9065.3
#s @y e HEHoseBore R Dimensions 10611 1\ $ISNBLE0° W E S sk A FIA A BB AT B L
PartNo.  ThreadE  /A7R9%E DN H 52 METRIC MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL
20241-14-04  M14x15 6 18.5 19
20241-14-05  M14x1.5 8 193 19 RS 24 E  #EHoseBore  JII Dimensions
20241-16-05  M16x1.5 8 20.0 22 PartNo.  ThreadE  /AFRA4% DN A S1
20241-18-06  M18x15 10 214 24 10611-14-04  M14x15 6 235 19
20241 20241-22-08  M22x15 12 240 27 10611-14-06  M14x1.5 10 240 19
20241-27-10T  M27x15 16 243 32 10611-16-04  M16x15 6 275 2
20241-30-12  M30x1.5 20 30.0 36 10611-16-05  M16x1.5 8 265 2
20241-36-12T  M36x2.0 20 275 41 10611-18-06  M18x1.5 10 295 24
20241-36-14T  M36x2.0 2 27.0 41 A 10611-22-06  M22x1.5 10 305 27
20241-36-16  M36x2.0 25 315 41 10611-22-08  M22x15 12 320 27
20241-39-16T  M39x2.0 25 297 46 ~ 10611-24-10  M24x1.5 16 35.0 30
D —— 20241-4220  M42x2.0 32 36.6 50 / 10611-26-10  M26x1.5 16 35.0 32
[T 20241-45-20T  M45x2.0 32 338 55 E’Ook o o 10611-27-10D  M27x1.5 16 350 32
= 20241-52-20T  M52x2.0 32 338 60 10611-27-10  M27x2.0 16 37.0 32
20241-52-24T  M52x2.0 40 37.7 60 \ 10611-30-12D  M30x1.5 20 380 36
e 20241-60-28T  M60x2.0 45 436 70 10611-30-12  M30x2.0 20 380 36
32 20241-64-32T  M64x2.0 50 456 75 10611-33-16  M33x2.0 25 430 46
20241-T 10611-42-20  M42x2.0 32 460 50
10611-45-20  M45x2.0 32 46.0 55
10611-48-24  M48x2.0 40 46.0 55
10611-52-24  M52x2.0 40 46.0 60

16 17



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

20611/20611-T 0| NMEL060° FMEH 20111/20111-T -~ AL A
0
£ METRIC FEMALE 60° CONE pres @y £ 0 HoseBore | R Dimensions METRIC FEMALE MULTI SEAT :
% C, Part No. Thread E AFRA1Z DN C S2 %
3 . 20611-14-04  M14x1.5 6 5.5 19 3
§ T 20611-16-05  M16x1.5 8 5.5 22 sy 49 £ #& HoseBore  R~f Dimensions §
501;\)} . 20611-16-06 = M16x1.5 10 5.5 22 Part No. ThreadE | ATRIE DN c S
20611-18-06 = M18x1.5 10 5.5 24
\_\JJ-U-U—UUU“LU’ 20611-20-08  M20x1.5 12 6.5 57 20111-10-03 = M10x1.0 5 2.5 14
\s2 20611 20611-22-08 | M22x1.5 12 6.0 27 20111-10-04  M10x1.0 6 25 14
20611-24-10  M24x1.5 16 6.5 30 TTREE T e p n 17
C. 20611-26-10 | M26x1.5 16 6.0 32
1 20611-27-10DT ~ M27x1.5 16 6.0 32 20111-12-05 | M12x1.5 8 4.0 17
&{L 20611-27-10T  M27x2.0 16 6.0 32 C 20111-14-04 M14x1.5 6 45 19
=SS 20611-30-10D  M30x1.5 16 6.0 36 s
60°(> w - 20611-30-12D  M30x1.5 20 6.0 36 201111405 | M14x1.5 8 4.5 19
20611-30-12  M30x2.0 20 6.0 36 ——— 20111-16-04 = M16x1.5 6 45 22
20611-36-16 M36x2.0 25 6.5 41 UJ’ 20111-16-05 M16x1.5 8 45 22
20611-T 20611-39-16T  M39x2.0 25 6.5 46 L | " | u " l I
20611-45-20T  M45x2.0 32 85 55 1 201111606 | M16x1.5 10 4> 22
20611-52-24T M52x2.0 40 10.0 60 S9 20111-18-05T M18x1.5 8 4.0 24
20111 20111-18-06  M18x1.5 10 40 24
20641/20641-T 45° 51 NEL160° HNEEH 20111-18-08 | M18x1.5 12 40 24
45° METRIC FEMALE 60° CONE 20111-20-06T M20x1.5 10 55 24
= i85 E B Hose Bore Rt Dimensions 20111-20-08 = M20x1.5 12 55 27
PartNo.  ThreadE  /AFR4%E DN H s2 20111-22-06T  M22x1.5 10 5.0 27
20641-14-04  M14x1.5 6 206 19 20111-22-08 | M22x1.5 . 5o 27
20641-16-05 | M16x1.5 8 218 22
20641-18-06  M18x1.5 10 23.2 24 20111-22-10  M22x1.5 16 5.0 27
20641-22-08 | M22x1.5 12 268 27 20111-24-08T| M24x1.5 12 5.5 30
20641-27-10DT  M27x1.5 16 27.1 32 01119210 | Moaxis s 50 3
20641-30-12D  M30x1.5 20 335 36 C : :
20641-36-14T M36x2.0 22 31.6 41 20111-27-08DT M27x1.5 12 55 32
20641-39-16T|  M39x2.0 25 343 46 20111-27-10DT  M27x1.5 16 55 32
20641-45-20T M45x2.0 32 384 55
20641-52-24T  M52x2.0 40 42.7 60 m 20111-27-12D | M27x1.5 20 >3 32
20111-27-10T  M27x2.0 16 7.0 32
20111-30-12D | M30x1.5 20 6.0 36
20691/20691-T 90° /2 l[A122060° VM5 20111-T 20111-30-12  M30x2.0 20 7.0 36
90° METRIC FEMALE 60° CONE 20111-36-12T  M36x2.0 20 7.0 41
RS S0 E | #(EHoseBore | R Dimensions 20111-36-14T  M36x2.0 2 7.0 41
Part No. Thread E AFRA1E DN H S2
A || G . o . 20111-39-14T  M39x2.0 22 7.0 46
20691-16-05 | M16x1.5 8 405 22 20111-39-16T  M39x2.0 25 7.0 46
20691-18-06  M18x1.5 10 43.8 24 20111-42-16T  M42x2.0 25 85 50
20691-22-08 | M22x1.5 12 52.0 27
20691-27-100T  M27x1.5 16 55.0 32 20111-45-20T  M45x2.0 32 85 55
20691-30-12D  M30x1.5 20 68.5 36 20111-52-20T  M52x2.0 32 9.0 60
AVEIEAO | LIESPEY = e 41 20111-52-24T  M52x2.0 40 9.0 60
20691-36-14T  M36x2.0 22 67.5 41
20691-39-16T  M39x2.0 25 74.0 46 20111-64-32T) M64x2.0 >0 14.0 &
20691-T 20691-45-20T  M45x2.0 32 85.0 55
20691-52-24T M52x2.0 40 99.0 60

18 19



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

20141/20141-T 4575 NEL B A 10711 EirASIIMEL74° 5N H
2 45° METRIC FEMALE MULTISEAT . X X GB METRIC FEMALE 74° CONE 2
E = By B HRE Hoie Bore R~} Dimensions % 3 REF.GB/T 5628 re 2y E #%% Hose Bore R~ Dimensions E
§ Part No. UL AFRA{E DN H 52 Part No. Thread E AFRATE DN A S1 §
@ 20141-10-03  M10x1.0 5 20.7 14 10711-10-02 M10x1 4 23 14 @
g 20141-10-04 = M10x1.0 6 215 14 10711-10.03 | M10x1 s » 14 g
3 20141-12-03  M12x1.5 5 212 17 TR 3G e T 1 3
20141-12-04 |_M12x1.5 6 220 17 A 10711-12-03C| M12x1.25 5 245 14
20141-14-04 | M14x1.5 6 2ls 12 10711-14-04  M14x1.5 6 30.5 17
20141-14.05 |_Mi4x15 2 22.2 19 10711-14-06  M14x1.5 10 305 17
20141-16-04 | M16x1.5 6 2alL, 22 10711-16-05  M16x1.5 8 315 17
20141-16-05 |_M16x1.5 8 22.5 22 10711-16-06 = M16x1.5 10 315 17
20141-16-96 | M16x1.5 10 241 22 @ ?erj:- 10711-18-06  M18x1.5 10 315 19
20141-18-05T| M18x1.5 8 226 24 1071122.08 | M22x1 = 5 e ”
20141-18-06  M18x1.5 10 242 24 _ 07 T12408 | M2ais - 3 s
20141-18.08 | M18x1.5 12 o 2 Sl 10711-27-10  M27x1.5 16 38.5 27
20141-20-06T  M20x1.5 10 239 27 107T130-12 T M30x15 20 P 5
20141-20-08 | M20x1.5 12 27.2 27 1071130 12E | M30:0 % 452 S
20141-22-06T M22x1.5 10 25.7 27 107113312 | M3 % as e
20141-22-08 | M22x1.5 12 27.2 27 107113612 | M3t 5 at B
20141-24-08T M24x1.5 12 26.1 30 TR P ERE 5 a8 o
20141-24-10 | M24x1.5 16 296 30 107114220 | Moo B o 16
20141-27-10DT  M27x1.5 16 296 32 TR TST PR 3 = a
20141-27-10T M27x2.0 16 296 32
20141-30-12D  M30x1.5 20 335 36
20141-30-12  M30x2.0 20 335 36 20711/20711-T [l adlmsarz4 N E
20141-36-14T M36x2.0 22 32.64 41 GB METRIC FEMALE 74° CONE SEAT
e Ty 5 = SHREF.GB/T 9065.1 {8  @mmE  HEHoseBore R Dimensions
20141-52-24T  M52x2.0 40 434 60 PartNo.  ThreadE A%k DN C s2
20711-10-02  M10x1 4 7.5 14
o P 20711-12-03C. M12x1.25 5 9 17
20191/20191-T 90" x5l Ek A 20711-12-03  M12x1.5 5 10 17
90° METRIC FEMALE MULTISEAL . ; 20711-12-04 = M12x1.5 6 10 17
RS 25 E #E HoseBore X Dimensions ¢ 20711-14-04  M14x1.5 6 8.5 19
Part No. Thread E AFRNFE DN H S2 20711-14-05  M14x1.5 8 8.5 19
20191-10-03  M10x1 5 35.5 14 / 20711-14-06  M14x1.5 10 8.5 19
20191-12-04 | M12x1.5 6 37.5 17 | 20711-16-04 | M16x1.5 6 8 22
20191-14-04  M14x1.5 6 38 19 e k 20711-16-05  M16x1.5 8 8 22
20191-14-05 M14x1.5 8 41 19 \ - \j“_u_UUUUU_L‘ 20711-16-06 M16x1.5 10 8 22
20191-16-04  M16x1.5 6 385 19 \A, 20711-18-05T M18x1.5 8 8 22
20191-16-05  M16x1.5 8 M5 22 BE 20711-18-06 = M18x1.5 10 10 24
20191-16-06  M16x1.5 10 438 22 20711 20711-20-06T M20x1.5 10 10 24
20191-18-05T M18x1.5 8 43 24 20711-20-08 | M20x1.5 12 10 27
20191-18-06  M18x1.5 10 453 24 20711-22-06T  M22x1.5 10 10 27
20191-18-08  M18x1.5 12 50.5 24 20711-22-08 = M22x1.5 12 10 27
20191-20-06T  M20x1.5 10 448 24 20711-22-10  M22x1.5 16 10 27
20191-20-08  M20x1.5 12 52 27 20711-24-08T| M24x1.5 12 11 30
20191-22-06T M22x1.5 10 76.8 27 20711-27-08T  M27x1.5 12 1 32
20191-22-08 | M22x1.5 12 52.5 27 20711-27-10T| M27x1.5 16 11 32
20191-24-08T M24x1.5 12 51 30 20711-27-12  M27x1.5 20 11 32
20191-24-10 | M24x1.5 16 58.5 30 20711-30-10T| M30x1.5 16 11 36
%ﬂ”mﬁ 20191-27-10DT  M27x1.5 16 55.5 32 20711-30-12  M30x1.5 20 11 36
s [ 20191-27-10T  M27x2.0 16 555 32 20711-33-101] M33x2 16 13 4
20191-30-12D  M30x1.5 20 68.5 36 20711-33-12T  M33x2 20 13 41
== 20191-30-12 = M30x2.0 20 68.5 36 20711-33-14 | M33x2 22 13 41
20191-36-12T M36x2.0 20 68 41 , 20711-36-12T  M36x2 20 14 41
20191-36-14T M36x2.0 22 69 41 20711-36-14T|  M36x2 22 14 41
s2 20191-T 20191-39-16T  M39x2.0 25 735 46 20711-T 20711-36-16  M36x2 25 14 4
20191-45-20T  M45x2.0 32 85 55 20711-39-16T|  M39x2 25 14 46
20191-52-24T M52x2.0 40 100 60 20711-42-16T  M42x2 25 15 50
20191-64-32T|  M64x2.0 50 1223 75 20711-42-20 | M42x2 32 15 50

20 21



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

20741 45° Eir A6 NIRS74° NEEH 10411 AHIINELS 24 NEEE LR RS
g 45° GB METRIC FEMALE 74° CONE SEAT . . s - - METRIC MALE 24° CONE SEAT L.T. g
E %% REF.GB/T 9065.1 = i@er E - %E Hose Bore JR=F Dimensions 1SO 8434-1/DIN 3861 E
5 PartNo.  ThreadE  /AFR7% DN H s1 g
3 20741-14-04  M14x1.5 6 185 19 \ - — B 3
g 207411605 M16x1.5 8 20 22 RS 4y E | #KE HoseBore | &4 | RNV Dimensions g
@ 20741-18-06  M18x1.5 10 214 24 PartNo.  ThreadE AFRAZDN TubeOD. A S1 5
20741-22-08  M22x1.5 12 24 27 10411-12-04  M12x1.5 6 6 20.5 12
20741-27-10 M27x1.5 16 264 32 10411-14-04 M14x1.5 6 8 20.5 14
20741-30-12 | M30x1.5 20 30 36 10411-14-05 M14x1.5 8 8 215 14
20741-33-12 M33x2 20 30 41 10411-16-04 = M16x1.5 6 10 22,5 17
20741-33-16 . M33x2 25 308 41 A 10411-16-05 M16x1.5 8 10 25 17
20741-36-14  M36x2 22 29.6 41 10411-16-06  M16x1.5 10 10 25 17
20741-36-16 | M36x2 25 31.5 41 10411-18-05 M18x1.5 8 12 235 19
22(;’774‘?292‘3\2 migg gi ;;'i ;‘2 10411-18-06 = M18x1.5 10 12 21.5 19
: . 10411-22-06  M22x1.5 10 15 245 24
20741-52:29W) M52x2 40 409 60 247 = ’ " J| " I | | 10411-22-08 = M22x1.5 12 15 260 @ 24
L 10411-26-08  M26x1.5 12 18 265 27
20791 90° EFrAFI MRS 74° N EEHE 10411-26-10  M26x1.5 16 18 270 | 27
90° GB METRIC FEMALE 74° CONE SEAT . Sl 10411-27-10  M27x1.5 16 18 320 30
%2 REF.GB/T 9065.1 RS @4 E  #EHoseBore  RJ Dimensions 10411-30-10  M30x2 16 2 200 32
PartNo.  ThreadE  AFRA7Z DN H 2 10411-30-12  M30x2 20 2 290 32
20791-12-04C  M12x1.25 6 335 17 10411-36-16 = M36x2 25 28 315 38
20791-12-04 = M12x1.5 6 335 17 10411-45-20  M45x2 32 35 360 46
20791-14-04  M14x1.5 6 34 19 10411-52-24  M52x2 40 42 380 55
20791-16-04 = M16x1.5 6 35 22
20791-16-05  M16x1.5 8 38 22
20791-18-06 = M18x1.5 10 413 24
20791-22-08  M22x1.5 12 48 27
20791-22-10  M22x1.5 16 525 27
20791-27-10  M27x1.5 16 54 32 N A 940 T e
20791-30-12  M30x1.5 20 63.5 36 10511 7.7 gl B804 WA EARS)
20791-33-12 M33x2 20 635 e METRIC MALE 24° CONE SEAT H.T.
20791-33-16  M33x2 25 69 41 ISO 8434-1/DIN 3861
20791-36-12  M36x2 20 63.5 41
oroias s aoes » 0|48 RS | smar £ |$KB vosebore| #7512 | R Dimersions
30 = ) ,
20791-45-20W | M45x2 32 83 55 PartNo.  ThreadE ' 2#RA{EDN TubeOD. A 31
RSET | N Ghe 5 o = 10511-14-04 M14x1.5 6 6 24.1 14
207915200 | Ms2x2 20 96.5 60 10511-16-04  M16x1.5 6 8 26.5 17
10511-18-04 M18x1.5 6 10 26.5 19
10511-20-05 = M20x1.5 8 12 270 22
10811L/10811L-LN 5| 5NEZE2090° Hh5E A 10511-20-06 = M20x1.5 10 12 265 22
METRIC MALE 90° CONE 10511-22-05 M22x1.5 8 14 30.5 24
; . . 10511-22-06  M22x1.5 10 14 305 24
—"1 ®RS ey £ WEHoseBore  R5J Dimensions H 10511-22-08  M22x1.5 12 14 310 24
Ds PartNo.  ThreadE  AFRA7Z DN A S1 2 94 10511-24-08  M24x1.5 12 16 315 27
”"“C’" ) . 10811L-12-04 M12x1.5 6 46 17 17 10511-30-10 = M30x2 16 20 360 32
N 10811L-12-04A M12x1.0 6 445 | 17 17 10511-30-12  M30x2 20 20 360 32
81 10811L-14-04 M14x1.5 6 46 17 19 o1 10511-36-12  M36x2 20 25 405 4
10811L 10811L-14-06 M14x1.5 10 46.5 17 19 - 10511-36-16  M36x2 25 25 415 38
BITLOCK AL 10811L-16-04 M16x1.5 6 465 19 22 10511-42-16  M42x2 25 30 440 = 46
10811L-16-06  M16x1.5 10 465 @ 22 22 10511-42-20 M42x2 32 30 450 @ 46
10811L-20-06  M20x1.5 10 57 27 27 10511-52-20  M52x2 32 38 500 @ 55
10811L-20-08  M20x1.5 12 575 | 27 27
10811L-22-08 M22x1.5 12 625 27 27

10811L-LN

22 23



- ® - ®

m'. www.kandun.com www.kandun.com m'.

20411/20411-T 5 N1E2024° O Bt 27 20491/20491-T 905|122 24° HE 5 O B2 7 4|
g METRIC FEMALE 24° CONE O-RING L.T. 90° METRIC FEMALE 24° CONE O-RING L.T. 2
E ISO 12151-2/DIN 3865 ®e iy E BB HoseBore &7 4kf2 JRI Dimensions ISO 12151-2/DIN 3865 ®e 18y E BB HoseBore &7 4kf2 RI Dimensions E
Q Part No. ThreadE  AFRATZ DN Tube O.D. A S2 Part No. ThreadE  AFRATZ DN Tube O.D. H S2 e
E 20411-12-04  M12x1.5 6 6 26 17 20491-12-03  M12x1.5 5 6 415 17 E
= 20411-14-04 | M14x1.5 6 8 275 | 19 ‘ 20491-12-04 | M12x1.5 6 6 445 17 =
20411-14-06  M14x1.5 10 8 275 19 ' 20491-14-04  M14x1.5 6 8 46 19
20411-16-04 | M16x1.5 6 10 28 22 20491-16-04 | M16x1.5 6 10 465 22
20411-16-05  M16x1.5 8 10 28 22 20491-16-05  M16x1.5 8 10 495 22
20411-16-06 | M16x1.5 10 10 28 22 20491-16-06 = M16x1.5 10 10 518 22
20411-18-05T M18x1.5 8 12 275 22 20491-18-05T M18x1.5 8 12 42 22
20411-18-06 | M18x1.5 10 12 29 24 20491-18-06 | M18x1.5 10 12 533 24
20411-18-08  M18x1.5 12 12 295 24 20491-22-06T  M22x1.5 10 15 473 27
20411-22-05T  M22x1.5 8 15 295 | 27 , 20491-22-08 | M22x1.5 12 15 61 27
20411-22-06T M22x1.5 10 15 29 27 20491-26-08T M26x1.5 12 18 51 32
20411-22-08 | M22x1.5 12 15 32 27 20491-26-10 | M26x1.5 16 18 675 32
20411-26-10  M26x1.5 16 18 35 32 20491-26-12  M26x1.5 20 18 77 32
20411-26-12 | M26x1.5 20 18 35 32 20491-27-10T M27x1.5 16 18 675 32
20411-27-10T  M27x1.5 16 18 28 32 20491-27-12  M27x1.5 20 18 77 32
20411-27-12 | M27x1.5 20 18 35 32 20491-30-10T)  M30x2 16 22 572 36
20411-30-10T  M30x2 16 22 35 36 20491-30-12  M30x2 20 22 80 36
20411-30-12 | M30x2 20 22 38 36 20491-36-12T  M36x2 20 28 69 41
20411-36-12T  M36x2 20 28 35 41 20491-36-14T  M36x2 22 28 70 41
20411-36-14T  M36x2 22 28 36 a1 20491-45-16T  M45x2 25 35 75 55
20411-45-16T  M45x2 25 35 4 55 20491-T 20491-45-20T  M45x2 32 35 885 55
20411-T 20411-45-20T  M45x2 32 35 42 55 7° B 20491-52-20T  M52x2 32 42 87 60
20411-52-20T  M52x2 32 42 44 60 20491-52-24T  M52x2 40 42 104 60
20411-52-24T | M52x2 40 42 44 60
20441/20441-T 457151 EL004° S O Bl 7 4 20511/20511-T N5 L24° 450 Bl &= 2 4
45° METRIC FEMALE 24° CONE O-RING L.T. METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2/DIN 3865 re= i2sr E B HoseBore &7 4kf2 I Dimensions ISO 12151-2/DIN 3865
Part No. ThreadE  AFRHAZDN TubeOD. H S2 rRE 125y E B HoseBore & 4kf2 JRI Dimensions
20441-14-04 M14x1.5 6 8 27 19 . Part No. ThreadE  AFRKTZ DN Tube O.D. C S2
20441-16-05 | M16x1.5 8 10 282 22 20511-14-04  M14x1.5 6 6 1.1 19
20441-16-06  M16x1.5 10 10 202 22 20511-16-04 = M16x1.5 6 8 1.5 22
20441-18-05T M18x1.5 8 12 229 22 20511-16-05  M16x1.5 8 8 1.5 22
20441-18-06  M18x1.5 10 12 209 24 20511-18-04T M18x1.5 6 10 2 22
20441-22-05T M22x1.5 8 15 25 27 20511-18-06  M18x1.5 10 10 2 24
20441-22-06T  M22x1.5 10 15 257 27 20511-20-06T  M20x1.5 10 12 2.5 24
20441-22-08 | M22x1.5 12 15 332 27 20511-20-08  M20x1.5 12 12 2.5 27
20441-26-08T M26x1.5 12 18 26,1 32 20511-22-06T  M22x1.5 10 14 2.5 27
20441-26-10 | M26x1.5 16 18 359 32 20511-22-08  M22x1.5 12 14 2.5 27
20441-26-12  M26x1.5 20 18 395 32 20511-24-06T M24x1.5 10 16 2.5 30
20441-27-10T| M27x1.5 16 18 277 | 32 20511-24-08T M24x1.5 12 16 3 30
20441-27-12 M27x1.5 20 18 395 32 20511-30-10T)  M30x2 16 20 3 36
20441-30-10T  M30x2 16 22 303 36 20511-30-12  M30x2 20 20 3 36
20441-30-12  M30x2 20 22 417 36 20511-36-12T  M36x2 20 25 3 41
20441-36-12T  M36x2 20 28 339 | 41 20511-36-14T  M36x2 22 25 3 41
20441-36-14T  M36x2 22 28 333 41 20511-42-12T)  M42x2 20 30 5 50
20441-45-20T  M45x2 32 35 408 @ 55 20511-42-16T  M42x2 25 30 5 50
20441-T 20441-52-20T  M52x2 32 42 419 60 20511-T 20511-52-20T  M52x2 32 38 6.5 60
20441-52-24T | M52x2 40 42 458 60 20511-52-24T  M52x2 40 38 6.5 60

24 25



- ® - ®

m'. www.kandun.com www.kandun.com m'.

20541/20541-T 4575020247 502 B = 75 20411C/20411C-T 5224 TR 27
45° METRIC FEMALE 24° CONE O-RING H.T. METRIC FEMALE 24° MULTISEAL L.T.
I1SO 12151-2/DIN 3865 ®e i8er B 4E HoseBore #74pZ R Dimensions

O (S
< <
= =
= =
v v
g g
T T
2 2
g g
< <
a a

Part No. ThreadE  AFRAFE DN Tube O.D. A S2
e @i £ |0 HoseBore| sk | R Dimensions 20411C-12-04 M12x1.5 6 6 195 17
bartNo. | ThreadE | A% DN | Tubeob. | B | 52 20411C-14-04 M14x1.5 6 8 205 19
20411C-16-04 M16x1.5 6 10 21 22
20541-14-04 | M14x1.5 6 6 28 | 19 20411C-16-05 M16x1.5 8 10 21 22
20541-16-04 | M16x1.5 6 8 283 | 22 20411C-16-06 M16x1.5 10 10 21 22
20541-16-05 | M16x1.5 8 8 289 | 22 20411C-18-06 M18x1.5 10 12 25 24
20541-18-04T  M18x1.5 6 10 213 | 22 20411C-22-06T M22x1.5 10 15 235 27
20541-18-06  M18x1.5 10 10 296 24 20411C2208| M22x] 5 1 15 4 e
20541-20-06T| M20x1.5 10 12 25 | 24 A 20411C-26-10T  M26x1.5 16 18 27 32
20541-20-08 | M20x1.5 12 12 328 | 27 20411C-30-10T M30x2 16 22 265 36
20541-22-06T M22x1.5 10 14 253 27 ) VS 2 > »7 36
20541-22-08  M22x1.5 12 14 332 27 w| gL m 20411C30-14] M30x2 % 2 7 36
20541-24-08T  M24x1.5 12 16 275 30 R EEEE VBB R - o a1
20541-24-10  M24x1.5 16 16 359 30 g 20811CA5.20T| Masx2 3 35 33 s
20541-30-10T|  M30x2 16 20 31 | 36 220411C 20411C-52-24T  M52x2 40 42 34 60
20541-30-12  M30x2 20 20 04 36
20541-36-12T  M36x2 20 25 346 41
20541-36-14T  M36x2 22 25 3 M
20541-42-16T  M42x2 25 30 368 50 20491C/20491C-T 90° /2 | 1A 1527 24° Bk 44 7 4|
50541-T 20541-52-20T  M52x2 32 38 412 60 90° METRIC FEMALE 24° MULTISEAL L.T.
20541-52-24T  M52x2 40 38 451 60
= i8sr E BB HoseBore #7742 JR~I Dimensions
Part No. ThreadE  AFRATZ DN Tube O.D. H S2
20491C-14-04  M14x1.5 6 8 395 19
20491C-16-04  M16x1.5 6 10 40 @ 22
20591/20591-T 907/~ 5|t 2024° S O [ &= = 7| 20491C-16-05 M16x1.5 8 10 43 2
90° METRIC FEMALE 24° CONE O-RING H.T. 20491C-16-06.  M16x1.5 10 10 452 | 22
1SO 12151-2/ DIN 3865 20491C-18-06  M18x1.5 10 12 4725 24
20491C-22-08  M22x1.5 12 15 53 27
= 2er B 3B HoseBore & F 4z T Dimensions 20491C-26-10 M26x1.5 16 18 60 32
PartNo.  ThreadE  AFRMZDN TubeOD. H  S2 20491C 20491C-T 20491C-30-12  M30x2 20 2 685 36
20591-14.08 | M14x15 p P 475 | 19 20491C-36-12T  M36x2 20 28 675 41
20591-16-04  M16x1.5 6 8 48 22
20591-16-05  M16x1.5 8 8 51 22
20591-18-05T M18x1.5 8 10 415 22 20511C/20511C-T 5l AE4024° B & 75
20591-18-06  M18x1.5 10 10 52.8 24 METRIC FEMALE 24° MULTISEAL H.T.
20591-20-06T  M20x1.5 10 12 463 24 C
20591-20-08  M20x1.5 12 12 61 27
20591-22-06T  M22x1.5 10 14 468 27 RE 247 £ #E HoseBore & 42 R Dimensions
20591-22-08  M22x1.5 12 14 61 27 Part No. ThreadE  AFRWZDN TubeOD. C S2
20591-24-08T  M24x1.5 12 16 53 30 20511C-18-04T  M18x1.5 6 10 3 22
20591-24-10  M24x1.5 16 16 675 30 20511C-20-05T  M20x1.5 8 12 45 | 24%
20591-30-10T  M30x2 16 20 605 36 20511C-20-06T  M20x1.5 10 12 45 24
20591-30-12  M30x2 20 20 81 36 20511C-22-06T  M22x1.5 10 14 45 27
20591-36-12T  M36x2 20 25 70 4 C 20511C-24-08T  M24x1.5 12 16 5 30
20591-36-14T  M36x2 22 25 71 M 20511C-30-10T M30x2 16 20 7 36
20591-42-16T  M42x2 25 30 775 50 20511C-36-12T  M36x2 20 25 65 41
20591-52-20T  M52x2 32 38 89 60 - 20511C-42-16T  M42x2 25 30 9 50
20591-T 20591-52-24T  M52x2 40 38 103 60 20511C-52-20T  M52x2 32 38 8 60

5o 20511C

26 27



- ®

m'. www.kandun.com www.kandun.com m'.

20541C/20541C-T 45°A N84 24° Bk E 2 24 NS ==7FE18H
2 45° METRIC FEMALE 24° MULTISEAL L.T. RETAINING NUT L.T. 2
= =
= DIN 3870 =
5 5
2 2
3 ®e 125y E &F¥EEd  Rf Dimensions 8
< . = Part No. Thread E Tube O.D. C P) s
= & Hose Bore &% S ~J Dimensions - =
RS By e HE seBore EF5hE /X Dimens C NS-14 M14x1.5 6 165 17
Part No. ThreadE  AFRWZDN TubeOD. H 52 S2
20541C-16-04  M16x1.5 6 8 27 19 / NS-16 M16x1.5 8 165 1
20541C-18-04T  M18x1.5 6 10 216 22 \ : J NS-18 M18x1.5 10 17.5 22
20541C-20-06T  M20x1.5 10 12 246 = 24 / \ NS-20 M20x1.5 12 17.5 24
20541C-24-08T  M24x1.5 12 16 265 30 . - - T 3 T o -
I I NS-24 M24x1.5 16 20.5 30
NS-30 M30x2 20 24 36
NS-36 M36x2 25 27 46
NS-42 M42x2 30 29 50
20591C/20591C-T 90° /| A 0227 24° Bk & 2 4| NS-52 M52x2 38 325 60
90° METRIC FEMALE 24° MULTISEAL H.T.
=t 484y E B HoseBore & 74if2 JRI Dimensions RL RS =
/4
/\ 12
Part No. ThreadE  AFRAZEDN TubeOD. H S2 CUTTING RINGS
20591C-16-04 M16x1.5 6 8 40 2 DIN 3861
20591C-18-04T  M18x1.5 6 10 385 22
20591C-20-05T  M20x1.5 8 12 2 24 RS BFIMED Ry T
20591C-20-06T  M20x1.5 10 12 457 24 Part No. Tube O.D. Dimensions Note
20591C-22-06T M22x15 10 14 447 27 RL-06 6 SERAPERN
20591C-24-08T  M24x1.5 12 16 52 30 RL-08 8 B
20591C-30-10T  M30x2 16 20 565 36 RL- 10 10 the same as the 2
20591C-36-12T  M36x2 20 25 665 41 RL-12 12 RS series
20591C-42-16T  M42x2 25 30 735 50 RL-15 15 B
20591C-52-20T  M52x2 32 38 875 60 —_— . .
|
RL-22 22
RL-28 28 L
a RL-35 35
NL ZxFFEEL RL-42 42
RETAINING NUT L.T. RS-06 6
DIN 3870 " 1257 E &FH2d  RT Dimensions RS-08 8
Part No. Thread E Tube O.D. C S2 RS-10 10 =
C NL-12 M12x1.5 6 145 14 T -
S2 NL-14 M14x1.5 8 14.5 17 =
e NL-16 M16x1.5 10 155 19 RS-14 14
A NL-18 M18x1.5 12 15.5 22 RS-16 16 7
NL-22 M22x1.5 15 17 27 RS-20 20
=y - NL-26 M26x1.5 18 18 32 RoE - s
NL-30 M30x2 22 20 36
N NL-36 M36x2 28 21 41 RS-30 30
NL-45 M45x2 35 24 50 RS-38 38
NL-52 M52x2 42 24 60

28 29



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

50011 = E% 50041 450G FELAEE
2 METRIC STANDPIPE STRAIGHT 45° METRIC STANDPIPE STRAIGHT 2
& DIN 2353 DIN 2353 &
g g
& &
g g
"= 48 Hose Bore & F-4p2  JRT Dimensions  &35% re= & HoseBore %7 4hZ R~ Dimensions &3+
PartNo.  AFRAZ DN Tube OD. A Note PartNo.  FRA{E DN  Tube OD. H Note
50011-06-03 6 5 28.5 50041-06-03 5 6 27.5
50011-06-04 6 6 29 50041-06-04 6 6 30.1
50011-10-05 10 8 31 50041-08-05 8 8 324
50011-10-06 10 10 32 50041-08-06 10 8 331
50011-12-06 12 10 335 50041-10-05 8 10 30.6
50011-12-08 12 12 33 2 50041-10-06 10 10 313 2
50011-15-06 15 10 335 50041-12-06 10 12 34.5
50011-15-08 15 12 335 S 50041-12-08 12 12 374 S
50011-18-08 18 12 36.5 7 50041-15-06 10 15 34.5 7l
50011-18-10 18 16 41 50041-15-08 12 15 357
A 50011-22-10 22 16 44 L 50041-18-08 12 18 38.5 L
50011-22-12 22 20 44 50041-18-10 16 18 39.8
———— VA ’ 50011-22-16 22 25 46 50041-22-10 16 22 423
o 50011-28-16 28 25 47 50041-22-12 20 22 459
:l_l_ | " " " " | | . 50011-35-20 35 32 56 50041-22-16 25 22 46.7
50011-42-24 42 40 62 50041-28-16 25 28 49.5
50011-08-04 8 6 31 50041-35-20 32 35 57.8
50011-08-05 8 8 33 50041-08-04 6 8 315
50011-08-06 8 10 33 50041-10-04 6 10 31.9
50011-10-04 10 6 35 50041-12-04 6 12 35.1
50011-12-04 12 6 345 50041-12-05 8 12 359
50011-12-05 12 8 355 50041-14-06 10 14 37.3
50011-14-06 14 10 39.5 50041-14-08 12 14 38.8 =
50011-14-08 14 12 40 E 50041-14-12 20 14 43.8
50011-14-12 14 20 45.5 = 50041-16-08 12 16 41.7 A
50011-16-08 16 12 41 50041-16-10 16 16 43 %
50011-16-10 16 16 455 5l 50041-20-10 16 20 48
50011-20-10 20 16 52.5 L 50041-20-12 20 20 52.6 L
50011-20-12 20 20 525 50041-25-12 20 25 544
50011-25-12 25 20 56 50041-25-16 25 25 55.2
50011-25-16 25 25 57 50041-30-16 25 30 594
50011-30-16 30 25 63 50041-30-20 32 30 63.5
50011-30-20 30 32 64 50041-38-16 25 38 63.6
50011-38-16 38 25 69 50041-38-20 32 38 67.7
50011-38-20 38 32 70

30 31



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

50091 o0 =X EE 13011-SP 5=/ 22y
2 90° METRIC STANDPIPE STRAIGHT BSPT MALE 2
E DIN 2353 = 38 Hose Bore &7 4NZ JST Dimensions &% - \ 5 Hose B b . E
g PartNo.  /AFA{2DN TubeOD. M Note #e g £ | A Hose Bore | Rof Dimensions :
@ 50091-06-03 6 5 45 Part No. Thread E INFRANTE DN A S1 @
< 50091-06-04 p p 48 13011-02-035P  R1/8"x28 5 22 12 =
SIS G 5 . S5 13011-02-045P  R1/8"x28 6 225 12
50091-08-06 8 10 <8 13011-04-04SP  R1/4"x19 6 27 14
R = 5 = 13011-04-055P  R1/4"x19 8 25 14
50091-10-06 10 10 553 B 13011-04-065P  R1/4'x19 10 27 17
ST - 0 = 13011-06-04SP  R3/8"x19 6 275 17
50091-12-08 1 1 67 ES A 13011-06-055P  R3/8"'x19 8 265 17
EreE = = 55 . 13011-06-065P | R3/8'19 10 275 17
50091-15-08 15 1 65 7 —— 13011-06-08SP  R3/8"x19 12 30 19
S0 = - 5 ] | __ 13011-08-065P  R1/2"x14 10 345 22
50091-18-10 18 16 73 13011-08-085P  R1/2"x14 12 35 22
EreE—— e G — - 13011-08-10SP  R1/2'x14 16 38 22
50091-22-12 22 20 36 S 13011-08-125P  R1/2'x14 20 38 27
SRS G - = 515 13011-12-085P  R3/4"x14 12 37 27
50091-28-16 -8 By 95.5 13011-12-105P  R3/4"x14 16 38 27
TS == = s 13011-12-125P  R3/4"x14 20 385 27
50091-08-04 8 P 5y 6 13011-12-165P  R3/4"x14 25 395 32
Er———— 0 7 % 13011-16-125P  R1"x11 20 44 36
50091-12-04 1 6 575 13011-16-165P  R1"x11 25 45 36
TR > 5 e 13011-20-205P  R1.1/4"x11 32 495 46
50091-14-06 14 10 638 13011-24-24SP  R1.1/2'x11 40 515 50
50091-14-08 14 12 69 = 13011-32-245P  R2"x11 40 57 65
£0091-14-12 14 20 3 13011-32-325P  R2'x11 50 57 65
50091-16-08 16 12 73 X
50091-16-10 16 16 77.5 51
500912010 20 16 845 12611 #E/M2L60° W E
50091-20-12 20 20 955 L BSP MALE 60° CONE SEAT
50091-25-12 25 20 98
50091-25-16 25 25 103.5 =t 4257 E %% Hose Bore JX=F Dimensions
50091-30-16 30 25 1095 PartNo.  ThreadE  /AFR//% DN A 51
50091-30-20 30 32 120.5 12611-02-03  G1/8'x28 5 22 12
50091-38-16 38 25 1155 12611-04-04  G1/4"x19 6 245 14
50091-38-20 38 32 126.5 12611-06-05  G3/8'x19 8 26 17
12611-06-06 = G3/8'x19 10 27.5 17
12211 FEEIMELOVEZRE 12611-06-08  G3/8'x19 12 265 19
BSP MALE O-RING SEAL A 12611-08-06 G1/2"x14 10 30.5 22
= m;%éi E $7\§ Hose Bore JR~I Dimensions i 12611-08-08 G1/2"x14 12 31 22
PartNo.  ThreadE  /AZRFI/ DN A . Y, S 12611-10-08  G5/8'x14 12 325 24
12211-04-04  G1/4'x19 6 235 19 60° | =/ - —t 12611-1010 | G5/8'x14 16 33.3 24
A 12211-04-06  G1/4'x19 10 235 19 _ m 1;2: H ;:?g 2; 2-'22 12 335%5 ;;
I— 12211-06-06  G3/8"x19 10 265 22 S it | aaia % s >
o 7 12211-08-04  G1/2'x14 6 335 27 X :
8 122710806 | G721 0 335 57 12611-16-12  G1'x11 20 405 36
- 1221108.08 | G1/2'x14 " 34 57 12611-16-06  G1'X11 25 415 36
SRR s 36 2 12611-20-16 G1.1/4'x11 25 435 46
5 12211-12-10  G3/4'x14 16 335 32 Eg: 1;2;8 G(;}; ‘fx’;111 ;; 4:; ;‘g
12211-12-12 G3/4"x14 20 38 32
12211-1216  G3/4'x14 25 36 32 12611-24-24 | G1/2'x11 40 46 >0
12211-16-16  G1'x11 25 445 41 1200222 G2 20 22 22
122112020 G1.14"x11 32 46 50

32 33



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

12611TA TLEINELL60° P HEE 5/~ Fim [ 2H S35 5 RN BHEL 22141/22141-T/22141-W 45° 55 N4 kA
g BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL 45°BSP FEMALE MULTISEAL 2
= rRe 125y E %% Hose Bore X~} Dimensions E
§ ®re i@er E - #E HoseBore =T Dimensions Part No. ThreadE  AFRINZ DN H 52 g
g Part No. ThreadE  AFRAE DN A S1 22141-02-04 = G1/8"x28 6 216 14 5
S 12611A-02-03 = G1/8"x28 5 22 14 22141-04-03 | G1/4"x19 5 204 19 <
12611A-04-04  G1/4"x19 6 245 19 22141-04-04  G1/4"x19 6 216 19 “
12611A-04-05  G1/4"x19 8 245 19 22141-06-05 | G3/8"x19 8 229 22
12611A-06-05 = G3/8"x19 8 26 22 22141-06-06 = G3/8"x19 10 239 22
12611A-06-06  G3/8"x19 10 28 22 22141-06-08 | G3/8"x19 12 254 22
A 12611A-06-08  G3/8'x19 12 285 22 22141-08-04T  G1/2'x14 6 238 27
12611A-08-06  G1/2"x14 10 33 27 22141-08-06T = G1/2"x14 10 18.2 27
/%7’ 12611A-08-08  G1/2'x14 12 335 27 7~ ] 22141-08-08  G1/2'x14 12 26.8 27
[ Ty 7Ty 12611A-08-10  G1/2'x14 16 32 27 22141-08-10 = G1/2'x14 16 29 27
60°| = L : - 12611A-10-08 = G5/8"x14 12 35 30 22141-10-10  G5/8"x14 16 289 30
T 12611A-10-10  G5/8"x14 16 36 30 22141-10-12 = G5/8"x14 20 325 30
- 12611A-12-08 | G3/4"x14 12 36.5 32 22141-12-08T = G3/4"x14 12 283 32
Sl 12611A-12-10  G3/4'x14 16 375 32 22141-12-10  G3/4'x14 16 296 32
12611A-12-12 | G3/4"x14 20 37.5 32 22141-12-12  G3/4"x14 20 33.2 32
12611A-16-12  G1"'x11 20 425 41 22141-16-12 G1"x11 20 335 41
12611A-16-16 = G1"x11 25 43.5 41 Wm 22141-16-14 G1"x11 22 33 41
12611A-20-16 = G1.1/4"x11 25 455 50 [ 22141-16-16 G1"x11 25 35 41
12611A-20-20 | G1.1/4"x11 32 46.5 50 = 22141-20-16T  G1.1/4"x11 25 37.1 50
12611A-24-24  G1/2"X11 40 49 55 22141-20-20W | G1.1/4"x11 32 412 50
12611A-32-32 | G2"x11 50 545 70 o 22141-W 22141-24-24W | G1.1/2"X11 40 49 55
22141-32-32W | G2'x11 50 53 70
22111/22111-W/22111-T XENSDRE 22191/22191-T/22191-W 90" ¥ /124055
BSP FEMALE MULTISEAL 90° BSP FEMALE MULTISEAL
N A re By E %% Hose Bore  /<~f Dimensions ®re W22y E & Hose Bore  /X~f Dimensions
S Part No. Thread E AFRHIZ DN A S2 Part No. Thread E NFRAZ DN H S2
el A ) j_][]]_ﬂﬁ 22111-02-04 = G1/8"x28 6 19 14 22191-02-04 = G1/8"x28 6 38,5 14
22111-04-03  G1/4"x19 5 19 19 22191-04-03 | G1/4"x19 5 35 19
22111-04-04 = G1/4"x19 6 19.5 19 22191-04-04 = G1/4"x19 6 385 19
g2 22111 22111-06-05 = G3/8"x19 8 20 22 22191-04-05 | G1/4"x19 8 415 19
22111-06-06 ~ G3/8"x19 10 205 22 22191-06-05 = G3/8"x19 8 42 22
A 22111-06-08 G3/8"x19 12 21 22 22191-06-06 G3/8"x19 10 44.8 22
22111-08-06T  G1/2"x14 10 22.5 27 22191-06-08 = G3/8"x19 12 50 22
S 22111-08-08 = G1/2"x14 12 23 27 22191-08-06T = G1/2"x14 10 46.8 27
r’” z = 22111-08-10  G1/2"x14 16 24 27 22191-08-08 = G1/2"x14 12 52 27
22111-10-10 = G5/8"x14 16 25 30 22191-08-10 | G1/2"x14 16 58 27
. l 22111-10-12  G5/8"x14 20 25 30 22191-10-10 = G5/8"x14 16 57.5 30
T r 22111-12-08T | G3/4'x14 12 25 32 22191-10-12 | G5/8'x14 20 67 30
52 22111-W 22111-12-10 G3/4"x14 16 26 32 22191-12-08T  G3/4"x14 12 52 32
22111-12-12 | G3/4"x14 20 26 32 22191-12-10 | G3/4"x14 16 58.5 32
A 22111-16-12T  G1'x11 20 26.5 M 22191-12-12  G3/4"x14 20 68 32
22111-16-14 G1"x11 22 26.5 41 — 22191-16-12T G1"'x11 20 68.5 41
22111-16-16 G1"x11 25 28 41 22191-16-14 G1"x11 22 69.5 41
o 22111-20-16T | G1.1/4’x11 25 27.5 50 22191-16-16 | G1°11 25 75 A1
22111-20-20W  G1.1/4"x11 32 315 50 = 22191-20-16T  G1.1/4"x11 25 78 50
U‘JJ‘EMUJ 22111-24-24W  G1.1/2"x11 40 37 55 22191-20-20W | G1.1/4"x11 32 85.3 50
22111-32-32W G211 50 34 70 ZNHE 22191-24-24W  G1.1/2"x11 40 108 55
22111-T 7 k 22191-W 22191-32-32W | G211 50 1238 70

34 35



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

22211 * = NEZcPE 22611/22611-T/22611-W =8 2060° 9

g BSP FEMALE FLAT SEAT BSP FEMALE 60° CONE e
E - ' - . . = 8 E ZE HoseBore /R~ Dimensions E
§ = B B KB Hos:e Bore  /R~I Dimensions \ Part No. ThreadE  /A#{A2 DN A S2 §
8 PartNo.  ThreadE 7RI DN A = S| 22611-02-03  G1/8"x28 5 15 14 8
g 22211-04-04  G1/4°x19 6 15.5 19 |‘ DD rrrrrrrrrrres: 22611-02-04  G1/8'x28 6 15 14 g
“ 22211-04-06 = G1/4™19 10 15.5 19 o0e( e L " 22611-04-03  G1/4"x19 5 17 19 <
22211-06-04 | G3/8'x19 6 17 22 A 22611-04-04 | G1/4"x19 6 18 19
A 22211-06-05  G3/8"x19 8 17 22 22611-04-05  G1/4"x19 3 18 19
22211-06-06 = G3/8"'x19 10 165 22 22611 22611-04-06 = G1/4"x19 10 18 19
I e 22211-08-06T G1/2"x14 10 18 27 22611-06-05 G3/8"x19 8 19 22
m 22211-08-08 | G1/2'x14 12 185 27 22611-06-06  G3/8'x19 10 195 22
- E” ” Hl " " JH | _J 22211-10-08  G5/8'x14 12 20 30 22611-06-08 = G3/8"'x19 12 19.5 22
22211-10-10 | G5/8°x14 16 21 30 22611-08-06T  G1/2'x14 10 21 27
<9 22211-12-08T G3/4"x14 12 20.5 32 22611-08-08 G1/2"x14 12 215 27
222111210 G3/4'x14 16 215 32 22611-10-08  G5/8"'x14 12 2 30
22211-12-12 | G3/4°x14 20 21.5 32 22611-10-10 | G5/8'x14 16 235 30
22211-16-12T | G1'x11 20 21.5 41 22611-12-08T  G3/4"x14 12 22 32
22211-16-16  G1'x11 25 23 4 22611-12-10 | G3/4"x14 16 24 32
22211-20-20W | G1.1/4"x11 32 26 50 22611-12-12  G3/4"'x14 20 24 32
22211-24-24W  G1.1/2"x11 40 275 55 22611-16-12T . G1'x11 20 24 e
22211-32-32W G2"x11 50 30.5 70 22611-16-14 G1"'x11 22 26 41
22611-16-16 G111 25 27 4
22611-20-16T  G1.1/4"x11 25 275 50
22241 45°ZENBELCFE 22611-20-20W  G1.1/4'x11 32 305 50
45° BSP FEMALE FLAT SEAT 22611-24-20T  G1.1/2"x11 32 32 55
22611-24-24W | G1.1/2"x11 40 32 55
o= s E | % HoseBore | R~ Dimensions 22611-32-24T GZHXH 40 30 70
22611-32-32W | G2'x11 50 319 70
Part No. Thread E AFRATE DN H S2
22241-04-04  G1/4'x19 6 18.8 19
152213222 E?fiﬂz - = 2 22641/22641-T/22641-W 45" = 5 1924060° 51 4
~Vor 0 0
22241-12-12  G3/4'x14 20 30 32 45 BSP FEMALE 607 CONE
22241-16-16 G111 25 315 Y - —
22241-20-20w | G1.1/4"x11 32 36.6 50 ooz ®E 984y B #E HoseBore  R5f Dimensions
Part No. Thread E AFRAIZ DN H S2
22641-04-04  G1/4'x19 6 20.2 19
22641-06-04  G3/8"'x19 6 21 22
22641-06-05  G3/8"'x19 8 22 22
22291 90" = NEALTE 22641-06-06  G3/8'x19 10 226 22
90° BSP FEMALE FLAT SEAT 22641-08-06T  G1/2"x14 10 23.9 27
22641-08-08  G1/2'x14 12 26.1 27
22641-10-08  G5/8"x14 12 26.5 30
rRE 424y E #E HoseBore  JR=J Dimensions 22641-10-10 | G5/8"x14 16 27.8 30
Part No. ThreadE  /\FrFAI72 DN H 2 22641-12-08T  G3/4"x14 12 26.9 32
22291-04-04  G1/4'x19 6 34.5 19 22641-12-10 | G3/4'x14 16 28.2 32
22291-06-06 = G3/8"'x19 10 413 22 22641-12-12  G3/4'x14 20 31.8 32
22291-08-08 G1/2"x14 12 48 27 22641-16-12T G1"x11 20 334 41
22291-12-12 | G3/4'x14 20 63.5 32 22641-16-16  G1'x11 25 342 41
22291-16-16 G1"x11 25 70 41 22641-20-16T | G1.1/4"x11 25 311 50
22291-20-20w | G1.1/4"x11 32 82.5 50 22641-20-20W  G1.1/4°x11 32 38 50
22291-24-24w  G1.1/2"x11 40 98.5 55 22641-24-24W | G1.1/2"x11 40 45.5 55
22641-32-32W  G2'X11 50 52.7 70

36 37



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

22691/22691-T/22691-W 90" == 1401220607 9 [ 22691K =10 2060° A E N 5
2 90° BSP FEMALE 60° CONE BSP FEMALE 60° CONE DOUBLE HEXAGON o . e . . 2
E =1 Wy E & Hose Bore  /R~f Dimensions RS BAE K Hofe EOEAS RInch:lons E
g Part No. TI'?réad E ANFRATZ DN H 52 Part No. Thread E ARRPAEE DN 0 - g
3 ) e e 22691K-04-04  G1/4'x19 6 185 19 3
ol IR ETTTTERE R A
= == - : 22691K-06-05 = G3/8'x19 8 23 22 =
22691-04-03  G1/4'X19 5 335 19 = 52691K06.06 | Ga/8"x19 0 e >
22691:04-04 | G1/4'X19 6 36.5 19 22691K-08-06  G1/2'x14 10 265 27
2T Sl : oS Lo s2 22691K-08-08  G1/2'x14 12 285 27
226910406 | Gl/4'x19 10 365 19 X 22691K-10-10  G5/8"x14 16 202 30
226910604 | G3/8'x19 6 37.7 2 ﬁ 22691K-12-12 | G3/4'x14 20 33 32
2269106:05 | G3/8'x19 8 407 22 22691K-16-16 G111 25 381 41
22691-06-06  G3/8'x19 10 43 22
22691-08-06T = G1/2'x14 10 433 27
22691-08-08  G1/2'x14 12 51 27 16011 = FISAEVNEZCT O/
22691-08-10  G1/2'x14 16 555 27 SAE O-RING MALE = @4 £ #EHoseBore  ~f Dimensions
22691-10-08 = G5/8'x14 12 51.5 30 I1SO 11926/ SAE J1926 P tﬁ Thread B A7
22691-10-10 | G5/8'x14 16 56 30 e e EriE L A o1
& 22691-12-08T  G3/4'x14 12 521 32 A 16011-04-04 | 7/16'x20 6 21.5 14
22691-12-10 | G3/4"x14 16 56.6 32 16011-05-04 | 1/2'x20 6 21.5 17
| 20 P 3 16011-06-05  9/16'x18 8 225 17
g (801 i 22691-16-12T | G1'x11 20 68.3 41 16011-06-06 | 9/16'x18 10 22.5 17
’ 26911614 1 GIx1i > €03 pe 16011-08-06  3/4'x16 10 245 22
22691-16-16 G111 25 738 41 16011-08-08 | 3/4'x16 12 25 22
22691-20-16T  G1.1/4"x11 25 69.5 50 16011-10-08 | 7/8°x14 12 29.5 2
22691-20-20W  G1.1/4x11 32 84.3 50 16011-10-10 | 7/8'x14 16 305 27
22691-W 22601-24-24W  G1.1/2"x11 40 103 55 16011-12-10  1.1/16"x12 16 34 32
22691-32-32W G211 50 1233 70 16011-12-12_| 1.1/16'x12 20 34 32
16011-16-16  1.5/16'x12 25 36 38
—H et N 0 Ef o
22611D RENBLGOSME AN 15611 £4SAESMESIHOR B
PPFEHALE o0 CONE DOTBLE HEAACON RS IR4 E | HKE Hose Bore RS PSS SAEO-RING MALE = 124y E & Hose Bore  JX~) Dimensions
A PartNo.  ThreadE  AFfA/ZDN A 3 52 150 11926/ SAE 1926 PartNo.  ThreadE  /AFR/Z DN A 51
22611D-04-04 G1/4"x19 6 235 19 19 15611:02.03 | Z1/3"27 5 iE >
22611D-06-06  G3/8"x19 10 26.5 22 22 15611-02-04 = Z1/8"x27 6 225 12
S 22611D-08-08  G1/2"x14 12 31 27 27 15611-04-03  Z1/4"x18 5 27.5 17
60"(: = 22611D-10-08  G5/8"x14 12 32 30 30 15611-04-04 | Z1/4'x18 6 28 17
L 22611D-12-08  G3/4"x14 12 33 32 32 15611-04-05 = Z1/4"x18 8 28 17
X2 s 22611D-12-12 G3/4'x14 20 34 32 32 15611-04.06 | Z1/4'x18 10 27 17
22611D-16-16  G1"X11 25 355 41 41 A 122: 1'82‘8‘5‘ g:ig"ﬂg g ;g :g
22611D-2020  G1.1/4'x11 32 435 50 50 et oe0e T ZaEis 0 % o
s 4 3} 15611-06-08  Z3/8'x18 12 30.5 19
e o 0 ol T s 15611-08-06  Z1/2'x14 10 345 22
2261 1D'SMO SENBRE60° S S | 15611-08-08  Z1/2'x14 12 345 22
BSP FEMALE 60° CONE DOUBLE HEXAGON - e & | 5B Hosebore | Rt Dimensions L | | 15611:08-10  21/2'14 G - 5
Pariio. | TreadE [ AmAEON | A o T < E 15611-12-08  73/4'x14 12 375 27
g Sl 15611-12-10 = Z3/4"x14 16 38 27
A 22611D-04-04SM = G1/4"x19 6 23 14 19 15611-12-12 73/4"x14 20 385 27
22611D-06-06SM  G3/8"x19 10 5 17 22 15611-12-16  Z3/4'x14 25 385 32
_% S 22611D-08-085M  G1/2'x14 12 285 22 27 15611-16-10 | Z1'x11.5 16 45 36
60“(:‘—'4‘ | 22611D-10-085M ~ G5/8"x14 12 30 22 30 L6 e )2 21 Sl 20 45 36
| L 22611D-12-08SM  G3/4'x14 12 31 27 32 156111616 | Z1x11.5 2> 44.5 36
L) 22611D-12-125M  G3/4"x14 20 325 27 32 122: 1'58‘28 é”;"’ﬂ 12 §§ 4355 32
—xs2 22611D-16-165M  G1'x11 25 363 32 41 T TETREEETE e o o
22611D-20-20SM  G1.1/4"X11 32 415 41 50 156113232 | 22115 <0 e e

38 39



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

16711 Z=FICIHNRL 74° 5N E 26741/26741-W 45° =5JICIHIRLL 74° (A5 H
O o o 0 ©
£ JCMALE 74 CONE rRE 984 E %% HoseBore X5 Dimensions 45°JIC FEMALE 74” CONE SEAT } - ' } £
3 I1SO 8434-2/SAE J514 Part No. ThreadE  AFRAE DN A - SAE J514 "e 424y E #E HoseBore R~ Dimensions 3
12
z 16711-04-03  7/16"x20 5 26 12 FELB N ThreadE  AFRME DN H $2 2
& 16711-04-04 | 7/16"x20 6 26.5 12 26741-04-03 = 7/16"x20 5 17.2 15 8
: 16711-05-04  1/2'x20 6 26.5 14 267410404 7/16'x20 6 18.1 15 s
16711-05-05 1/2"x20 8 26.5 14 26741-05-04 1/2"x20 6 18.5 17
16711-05-06 1/2"x20 10 26.5 17 26741-05-05 1/2"x20 8 19.3 17
16711-06-04 = 9/16"x18 6 26.5 17 26741-05-06 1/2"x20 10 203 17
16711-06-05 9/16"x18 8 26.5 17 26741-06-04 9/16"x18 6 18.5 19
A 16711-06-06 = 9/16"x18 10 26.5 17 26741-06-05  9/16"x18 8 19.3 19
—_— - 16711-08-06 3/4"x16 10 31.5 22 26741-06-06 | 9/16"x18 10 20 19
16711-08-08 3/4"x16 12 32 22 26741-06-08 9/16"x18 12 219 19
/7777)7%7’ 16711-10-06 7/8"x14 10 32 24 26741-08-06 3/4"x16 10 214 24
s == 16711-10-08  7/8"'x14 12 343 24 26741-08-08 | 3/4'x16 12 23.5 24
74° w - N 16711-10-10 7/8"x14 16 355 24 26741-10-08 7/8"x14 12 24 27
16711-12-08 | 1.1/16"x12 12 39 27 26741-10-10 7/8"x14 16 253 27
16711-12-10  1.1/16"x12 16 40 27 26741-10-12 7/8"x"14 20 28.9 27
S1 16711-12-12 | 1.1/16"x12 20 40 27 26741-12-08 1.1/16"x12 12 25 32
- 16711-12-16  1.1/16"x12 25 41 30 26741-12-10 | 1.1/16"x12 16 264 32
16711-14-10 = 1.3/16"x12 16 41.5 32 I J 26741-12-12. 1.1/16"x12 20 30 32
16711-14-12  1.3/16"x12 20 40.6 32 /__J\[LLJJJ.LLLL 26741-12-16 | 1.1/16"x12 25 31 32
16711-16-12 | 1.5/16"x12 20 425 36 26741-14-12 1.3/16"x12 20 30 36
16711-16-16  1.5/16"x12 25 435 36 26741-16-12 | 1.5/16"x12 20 30 41
16711-20-16 1.5/8"x12 25 46.5 46 26741-16-16  1.5/16"x12 25 31.5 41
16711-20-20  1.5/8"x12 32 475 46 26741-W 26741-16-20 | 1.5/1 6""x1 2 32 355 41
16711-24-20 1.7/8"x12 32 53 50 26741-20-20W = 1.5/8"x12 32 35.9 50
16711-24-24 1.7/8"x12 40 53 50 26741-24-20W = 1.7/8"x12 32 40.1 55
16711-32-32 2.1/2"x12 50 62 65 26741-24-24W  1.7/8"x12 40 441 55
26741-32-32W | 2.1/2"x12 50 51.6 75
26711/26711-T = 5JICHRL74° A5 (A
JIC FEMALE 74° CONE SEAT . . o — 26791/26791-W 90° = FlJICIH 22074 A
SAE J514 RS g4 E K EHoseBore R Dimensions 90°JIC FEMALE 74° CONE SEAT
Part No. Thread E AFRAFE DN A S2 SAEJ514 re 84y E %% Hose Bore /X~ Dimensions
26711-04-03  7/16'x20 5 14.5 15 Part No. Thread E  /AFRPG/ DN G >
32;1 :_82_82 71//126uXX2200 2 115?5 1 ; 26791-04-03 = 7/16"x20 5 30,5 15
26711-05-05 1/2"%20 8 155 17 26791-04-04 7/16"x20 6 33.5 15
26711-05-06  1/2"x20 10 15.5 17 26791-05-04  1/2'x20 6 34 17
26711-06-04 = 9/16"x18 6 155 19 26791-05-05  1/2'x20 8 37 17
26711-06-05 9/16"x18 8 155 19 26791-05-06 1/2"x20 10 39.3 17
26711-06-06 = 9/16"x18 10 155 19 26791-06-04 | 9/16'x18 6 34 19
26711-06-08  9/16'x18 12 16 19 26791-06-05  9/16°x18 8 37 19
26711-08-06 3/4"x16 10 175 24 26791-06-06 9/16"x18 10 39.3 19
26711-08-08 3/4"x16 12 18 24 26791-06-08 9/16"x18 12 455 19
26711-08-10 3/4"x16 16 19.5 24 26791-08-06 3/4"x16 10 41.3 24
26711-10-08  7/8'x14 12 185 27 26791-08-08  3/4°x16 12 47 24
26711-10-12  7/8'x14 20 20 57 26791-10-08 = 7/8"x14 12 48 27
26711-12-08T | 1.1/16"x12 12 19 32 26791-10-10 | 7/8'x14 16 52.5 27
26711-12-10  1.1/16"x12 16 215 32 26791-10-12 7/8'x14 20 64 27
26711-12-12 1.1/16"x12 20 215 32 26791-12-08 1.1/16"x12 12 49.5 32
26711-12-16 1.1/16"x12 25 23 ED) 26791-12-10 1.1/16"x12 16 54 32
26711-14-12 1.3/16"x12 20 215 36 26791-12-12 1.1/16"x12 20 63.5 32
26711-16-12T  1.5/16"x12 20 185 41 26791-12-16  1.1/16'x12 25 70 32
26711-16-16 | 1.5/16"x12 25 23 M 26791-14-12 | 1.3/16"x12 20 63.5 36
26711-16:20  1.5/16"x12 32 >4 M 26791-16-12 | 1.5/16"x12 20 63.5 41
26711-20-16T 1.5/8"x12 25 23 50 26791-16-16 1.5/16"x12 25 70 41
26711-T 26711-20-20W  1.5/8"x12 3 % 50 26791-W 26791-16-20 | 1.5/16"x12 32 81 41
26711-24-20W  1.7/8"'x12 32 26.5 55 74° 26791-20-20W | 1.5/8"x12 32 80.5 50
26711-24-24W  1.7/8"x12 40 26.5 55 26791-24-20W  1.7/8"x12 32 79.5 55
26711-32-24T 2.1/2"x12 40 27 75 26791-24-24W = 1.7/8"x12 40 94 55
26711-32-32T  2.1/2'x12 50 57 75 26791-32-32W  2.1/2"x12 50 1218 75

40 41



- ®

m'. www.kandun.com www.kandun.com m'.

26711D = HJICHIEL74° A HEE NN FB 17811 =HISAEINZRLI90° SN
g JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON SAE MALE 90° CONE g
= =
% SAESTA K= #8sy E 3B Hose Bore JR~f Dimensions SAEJ513 rRe By B HE HOfe Bore R~ Dimensions %
5 Part No. Thread E /A7 DN A S 2 A Part No. Thread E AFRAIZ DN A S1 5
g 26711D-04-04  7/16'x20 6 20 15 15 SIS0 7/ o2 6 255 12 g
= 26711D-05-04  1/2'x20 6 205 17 17 17811-05-05 | 1/2'x20 8 27 14 “
26711D-06-04  9/16'x18 6 21 19 19 gor[ Nl 17811-0606 | 5/8'x18 10 28.3 7
26711D-06-06  9/16'x18 10 21 19 19 17811-0808 | 3/4'x16 12 34 22
26711D-0806  3/4'x16 10 25 24 24 17100000 715 1 i) 24
3671100608 | 3/4°x16 1 245 2 2 17811-12-12 | 1.1/16"x14 20 435 30
26711D-08-10  3/4"x16 16 254 24 24
26711D-10-08  7/8"x14 12 28 27 27
26711D-10-10  7/8"x14 16 29 27 27 27811 ZEHISAENIELI90° N HEE
26711D-12-12  1.1/16"x12 20 31.5 32 32 SAE FEMALE 90° CONE SEAT
26711D-16-12  1.5/16"x12 20 335 41 41 SAEJ513 re 984y E #E HoseBore  RSf Dimensions
26711D-16-16 | 1.5/16"x12 25 345 41 41 Part No. ThreadE  /AFRKZ DN A S2
26711D-16-20  1.5/16"x12 32 36.5 41 41 278110403 7/16"x20 5 14 15
26711D-20-20 | 1.7/16"x12 32 39 50 50 27811-04-04  7/16"x20 6 15 15
27811-05-05  1/2"x20 8 155 17
27811-06-04 = 5/8'x18 6 17 22
26711D-SM == 51JICI 520 74° DA 5 18 O 7 27811-06-05  5/8'x18 8 17 22
JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON 27811-06-06 5/8"x18 10 17 22
SAE J514 ) _ 27811-08-08  3/4'x16 12 18 24
RS 247 £ #E HoseBore T Dimensions s 27811-10-08  7/8'x14 12 185 27
Part No. ThreadE  AFRA4Z DN A S1 S2 27811-10-10 7/8"x14 16 20 27
26711D-04-045M ~ 7/16"x20 6 20 12 15 27811-12-12 | 1.1/16"x14 20 215 32
26711D-05-045M  1/2"x20 6 20.5 12 17
26711D-06-04SM ~ 9/16"x18 6 21 14 19
26711D-06-065M  9/16"x18 10 21 17 19 27841 45° EHISAENIZLI90° N SETH
26711D-08-06SM  3/4"x16 10 23 19 24 45° SAE FEMALE 90° CONE SEAT
26711D-08-08SM | 3/4"x16 12 24.5 22 24 SAEJ513 *re 984 E %% HoseBore R~} Dimensions
26711D-08-10SM  3/4"x16 16 25.4 22 24 Part No. ThreadE A\ FR7Z DN H s2
26711D-10-085SM  7/8"x14 12 24 22 27 27841-04-03 7/16"x20 5 17.2 15
26711D-10-10SM  7/8"x14 16 27 22 27 27841-06-04 5/8"x18 6 19.9 22
26711D-12-12SM ' 1.1/16"x12 20 31.5 27 32 27841-06-05 5/8"x18 8 20.7 22
26711D-16-12SM  1.5/16"x12 20 315 32 41 27841-06-06 5/8"x18 10 214 22
26711D-16-165M  1.5/16"x12 25 325 32 41 27841-08-08 3/4"x16 12 233 24
26711D-20-20SM  1.7/16"x12 37 41 50 27841-10-08 7/8"x14 12 233 27
27841-10-10  7/8'x14 16 24.6 27
- 27841-12-12 | 1.1/16"x14 20 30 32
26791K 90° = §35 BJICINIEL 74° A HE E
90° JIC COMPACT FEMALE 74° CONE SEAT
0 = - (o EA
SAEJ514 hs iy 4% Hose Bore R~ Dimensions 270891 90 %%UOSAEW B2E90° N HEE
Part No. Thread E AFRATZ DN H 52 90° SAE FEMALE 90° CONE SEAT
SN _ 26791K-04-04 7/16"x20 6 18 15 SAESSIS = i@sr E #E HoseBore  R~T Dimensions
N _ 26791K-06-04 = 9/16"x18 6 21 19 Part No. ThreadE  AFRKZ DN H S2
SE 26791K-06-06 | 9/16'x18 le ZL [ 27891-04-03  7/16'x20 5 305 15
= L 26791K-08-06 3/4"x16 10 25 24 27891-06:04  5/8'x18 6 36 2
R : 26791K-08-08 3/4"x16 12 25 24 = 27891-06-05 5/8"x18 8 39 22
~ ; S2 26791K-10-08 | _7/8'x14 12 27.5 27 27891-06-06 = 5/8'x18 10 413 22
1 26791K-10-10 7/8"x14 16 27.5 27 27891-10-08  7/8'x14 12 47 27
E 26791K-12-12 = 1.1/16"x12 20 30 32 27891-10-10 | 7/8'x14 16 515 27

42 43



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

14211 S HIORFSHMEELY EOF [ 24241/24241-T/24241-W 45 == HORFSA 240 T
2 ORFS MALE O-RING SEAT 45° ORFS FEMALE FLAT SEAT e - . 2
S SO 8434-3/ SAE J1453 1O 12515-1/SAEJ516 s ML E  HH HoseBore R Dimensions =
% K= 484y £ %% HoseBore  JRf Dimensions Part No. Thre?d E NFRA1E DN H S2 %
Partho.  Thread € AHEON A S 42410605 | 968 ; S RT
2 14211-04-04 | 9/16"x18 6 22.3 17 24241-04-06  9/16"'x18 10 249 19 2

14211-06-04 | 11/16"x16 6 24 19 24241-06-04T  11/16"x16 6 17.4 22
14211-06-06  11/16"x16 10 24 19 24241-06-05T  11/16"x16 8 19 22
A 14211-08-06 = 13/16"x16 10 275 22 24241-06-06 11/16"x16 10 274 22
14211-08-08  13/16'x16 12 285 22 24241-06-08  11/16'x16 12 29 22
14211-08-10 | 13/16'x16 16 285 2 2;122‘21‘0082;006; : z 1 2:":2 1 ‘2’ ;8'2 ;;
" -Uo-! X g
w t‘é} :::g:?ﬁ :Qi 12 3 ;f Z 24241-08-10 | 13/16"X16 16 31.7 27
24241-10-08T  1'x14 12 233 30
14211-12-08  1.3/16"X12 12 355 32 24241-10-10 %14 16 349 30
14211-12-10 | 1.3/16"x12 16 36.5 32 24241-10-12 1"x14 20 384 30
14211-12-12  1.3/16"X12 20 36.5 32 24241-12-08T | 1.3/16"x12 12 233 36
14211-16-12 | 1.7/16"X12 20 37 38 24241-12-10T  1.3/16"x12 16 246 36
14211-16-16  1.7/16"x12 25 38.5 38 24241-12-12 | 1.3/16"x12 20 39.5 36
14211-20-20 | 1.1/16'x12 32 415 46 24241-12-16  1.3/16'x12 25 4 36
VLETISYBY 13 i TEV T 24241-16-12T | 1.7/16'x12 20 296 41
24241-16-14T  1.7/16"x12 22 285 41
24241-16-16T | 1.7/16'x12 25 29.7 41
24241-16-20  1.7/16"x12 32 46.1 41
» - 24241-20-16T  1.11/16"x12 25 327 50

24211/24211-T/24211-W - 5|ORFSINE 21 A 24241-20-20W  1.11/16"x12 32 49 50

ORFS FEMALE FLAT SEAT 24241-20-24W  1.11/16"x12 40 52.9 50

I1SO 12515-1/SAEJ516 . e . : 24241-24-20T 2"x12 32 338 60

rRe 25 B HEHoseBore  X+J Dimensions 242412424 2'x12 40 377 60
A Part No. Thread E AFRHIZ DN A S1
24211-04-04  9/16'x18 6 225 19
B Bz 24211-04-05  9/16'x18 8 225 19 24291/24291-T/24291-W 90° = FIORFSINIZ 201 [
o 24211-04-06  9/16"x18 10 22.5 19 90° ORFS FEMALE FLAT SEAT
UM oo yewe o m:
S0 24211-06-06  11/16'x16 10 255 2 . PartNo.  ThreadE  A%kpyfE DN H 52
24211 24211-06-08  11/16'x16 12 26 2 LB SN S © il 0
202110805 131616 8 5| 43510405 | oMEs |10 #6319
A 2 PANRUER L e (0 10 2> 27 24291-06-05T  11/16'x16 8 375 22
24211-08-08  13/16'x16 12 28 27 24291-06-06  11/16"x16 10 49.8 22
24211-08-10  13/16"x16 16 29 27 24291-06-08 | 11/16"x16 12 55 22
24211-10-08T  1'x14 12 295 30 24291-08-06T  13/16"x16 10 39.8 27
o 24211-10-10 1"x14 16 335 30 24291-08-08  13/16"x16 12 57 27
24211-10-12 1"x14 20 335 30 24291-08-10  13/16"x16 16 61.5 27
24211-12-08T = 1.3/16"x12 12 30.5 36 24291-10-08T = 1'14 12 46 30
24211-T 24211-12-10T | 1.3/16'x12 16 315 36 ;gg}‘lg'}g 1§1: ;g 76565 :g
242111212 | 1.3/16'x12 20 35 36 24291-12-10T | 1.3/16"x12 16 51.5 36
24211-12-16_| 1.3716'X12 2 36 36 24291-12-12  1.3/16'x12 20 77 36
A 24211-16-12T | 1.7/16'x12 20 35 41 24291-12-16  1.3/16"x12 25 835 36
#'—Nj 24211-16-14T | 1.7/16"x12 22 34 41 24291-16-12T | 1.7/16"x12 20 63 41
' @ T 24211-16-16T  1.7/16'x12 25 35 41 24291-16-14T  1.7/16"x12 22 63 41
R I ____ 24211-16-20  1.7/16'x12 32 395 4 24291-16-16T | 1.7/16"x12 25 67.5 41
$ 24211-20-16T  1.11/16"x12 25 35 50 24291-16-20  1.7/16"x12 32 96 41
' 24211-20-20W | 1.11/16"X12 32 39.5 50 24291-20-16T 1.1 1; :2"X1§ ;g %g gg
T " 24291-20-20W  1.11/16"x
S2 24211-W 221221111 _22(1_22‘:)\’! L1 12{1?2)(1 2 :g 339 és Zg 24291-20-24W  1.11/16'x12 40 1135 50
24291-24-20T  2'x12 32 785 60
N -0 0 el 24291-24-24T | 2'x12 40 92 60

44 45



- ®

- ®
m'. www.kandun.com www.kandun.com m'.

21611 =HINPSMAIRLI60° SN 87311 SAE L “3000PSI
g NPSM FEMALE 60° CONE SAE FLANGE 3000 PSI g
E Part No. Thread E /A*/J/_(Wﬁé DN A S2 ,T,%_Elq \/fé;:@% $j"\¢ér‘ Hose Bore RTJ’ Dimensions E
g 21611-04-04  1/4'x18 6 22 19 PartNo.  FlangeSize  /AF{py7% DN A C £
& 21611-04-06 = 1/4"x18 10 22 19 87311-08-08 12" 12 46 302 5
A 21611-06-04 3/8::x1 8 6 23 22 A 87311-12-08 3/4" 12 47 38.1
21611-06-05 = 3/8"'x18 8 23 22 87311-12-10 3/4" 16 48 38.1
21611-06-06  3/8"'x18 10 23 22 87311-12-12 3/4" 20 48 38.1
21611-08-08 | 1/2"x14 12 235 27 87311-12-16 3/4" 25 49 38.1
21611-12-10 = 3/4"x14 16 27 32 T s S——— 87311-16-12 1 2 51 44.4
21611-12-12 | 3/4"x14 20 27 32 O N e J]HDLM 87311-16-16 " 25 5 44.4
21611-16-12T  1"x11.5 20 25 41 ; | 87311-16-20 " 32 53 44.4
21611-16-16 | 1'x11.5 25 285 41 [ 87311-20-16 1.1/4" 2 =7 0.8
21611-20-20W  1.1/4"x11.5 32 29.5 50 87311-20-20 1.1/4" 32 58 50.8
21611-24-20T | 1.1/2"x11.5 32 29.5 55 87311-24-20 11/2" 32 68 603
21611-24-24W  1.1/2"x11.5 40 315 55 87311-24-24 11/2" 40 68 60.3
87311-32-32 2" 50 70 714
21641 45° £ HINPSMAIEL60° SME T 87311-40-40 2.1/2 64 76 84.1
45° NPSM FEMALE 60° CONE
SAESST4 3= #8sy E KE HoseBore  /RJ Dimensions
Part No. ThreadE  AFRI4Z DN H S2 87391 90°SAE % =3000 PSI
21641-04-04  1/4'X18 6 23 19 90° SAE FLANGE 3000 PSI
21641-06-06  3/8'x18 10 249 22 150 12515-3/5AE J516 s skume  #E HoseBore  JUST Dimensions
21641-08-08 = 1/2"x14 12 27.7 27 Part No. Flange Size  AFRFI/Z DN e H
21641-12-12 | 3/4"x14 20 34 32 -
21641-16-16  1'x11.5 25 35 4 C2EHL AL A% 12! 12 302 =2
21641-20-20W | 1.1/4"x11.5 32 393 50 87391°12:08 A 12 281 48
21641-24-24W  1.1/2'x11.5 40 444 55 §7391-12-10 A 10 281 225
21641-32-32W | 2'x11.5 50 634 70 873911212 3/ 20 381 62
87391-12-12(H100) 3/4" 20 38.1 100
87391-12-12(H127) 3/4" 20 38.1 127
87391-12-12(H150) 3/4" 20 38.1 150
. R 87391-12-16 3/4" 25 38.1 67.5
210691 90 %%UN’?SMWQ?;Z%O ShEE 87391-16-12 1" 20 444 62
90°NPSM FEMALE 60° CONE 87391-16-16 1 25 444 67.5
SAEJ514 87391-16-16(H100) i 25 444 100
rRE 24y E %E HoseBore 5T Dimensions 87391-16-16(H127) 1" 25 444 127
Part No. ThreadE  AFRAE DN H S2 = 87391-16-16(H150) 1" 25 44.4 150
21691-04-04  1/4"x18 6 405 19 87391-16-20 1" 32 444 785
21691-06-04 = 3/8"'x18 6 37.7 22 87391-20-16 1.1/4" 25 50.8 67.5
21691-06-05 = 3/8"x18 8 407 22 : 87391-20-20 1.1/4" 32 50.8 785
21691-06-06 = 3/8"'x18 10 453 22 - 87391-20-20(H100) 1.1/4" 32 50.8 100
21691-08-08 = 1/2"x14 12 53.2 27 87391-20-20(H127) 1.1/4" 32 50.8 127
21691-12-10 | 3/4"x14 16 53.5 32 87391-20-20(H150) 1.1/4" 32 50.8 150
21691-12-12  3/4"x14 20 69.1 32 87391-20-24 1.1/4" 40 50.8 785
21691-16-12T = 1"x11.5 20 64.5 41 87391-24-20 1.1/2" 32 60.3 80.5
21691-16-16 = 1'x11.5 25 75 41 87391-24-24 1.1/2" 40 60.3 94
21691-20-20W | 1.1/4"x11.5 32 86 50 87391-24-24(H127) 1.1/2" 40 60.3 127
21691-24-20T  1.1/2"x11.5 32 83.5 55 87391-32-24 2" 40 714 94
21691-24-24W | 1.1/2"x11.5 40 101.5 55 87391-32-32 Pk 50 714 1143
21691-32-32W  2'x11.5 50 124.5 70 87391-40-32 2.1/2" 50 84.1 1143

46 47



- ®

m'. www.kandun.com www.kandun.com m'.

87341 45°SAE%=-%3000PSI 87691 90°SAE 76000 PSI
2 45° SAE FLANGE 3000 PSI 90° SAE FLANGE 6000 PSI - g
S 1SO 12515-3/SAEJ516 .  wme | 48 HoseBore | R<F Dimensions 1SO 12515-3/SAEJ516 RS #%XES | HH HoseBore | S Dimensions S
8 K= 7%:;;; )/\\E > Part No. Flange Size  /AFRA1Z DN C H 8
8 PartNo. | FlangeSize | ZA$R{Z DN c H 87691-08-08 1/2" 12 317 48 8
§ 87341-08-08 1/2" 12 30.2 233 87691-12-10 3/4" 16 413 56.5 %‘i
87341-12-08 3/4" 12 38.1 24 87691-12-12 3/4" 20 413 66
87341-12-10 3/4" 16 38.1 253 Wﬂ ] ] 87691-16-12 1" 20 47.6 69
87341-12-12 3/4" 20 38.1 28.9 - 87691-16-16 e 25 47.6 74.5
87341-16-12 1" 20 444 289 / 87691-16-20 B 32 476 85.5
87341-16-16 1" 25 444 29.7 o [ 87691-20-16 1.1/4" 25 54 785
87341-16-20 1" 32 44.4 338 87691-20-20 1.1/4" 32 54 89.5
87341-20-16 1.1/4" 25 50.8 29.7 87691-24-20 1.1/2" 32 63.5 945
87341-20-20 1.1/4" 32 50.8 33.8 {‘l‘ 87691-24-24 1.1/2" 40 63.5 108
87341-24-20 1.1/2" 32 60.3 35.2 d 87691-32-24 " 40 79.4 116
87341-24-24 1.1/2" 40 60.3 39.1 87691-32-32 " 50 79.4 136.3
87341-32-24 2" 40 714 39.1
87341-32-32 2" 50 714 46.3
FL SAEXJFF7k = 33000 PSI
SAE SPLIT FLANGE CLAMPS 3000 PSI
87611 SAE+“6000Ps] I506162/SAEJ518 re rme <t Dimensions
SAE FLANGE 6000 PSI Part No. Flange Size A B C E
15012515-3/5AE 516 =1 sk fe B HoseBore  /R~F Dimensions FL-08 1/2" 53.8 46.1 38.1 17.5
Part No. Flange Size ~ /A%#RA7Z DN A C FL-12 3/4" 65 524 47.6 222
8761 1_08_08 1/2" ‘I 2 47 31 .7 FL'1 6 1 " 69.9 58.7 52-4 26.2
A 87611-12-10 3/4" 16 51 413 FL-20 1.1/4" 79.2 73 587 | 302
87611-12-12 3/4" 20 51 413 FL-24 1.1/2" 937 826 699 357
87611-16-12 1 2 56 476 FL-32 2" 1016 98 = 778 429
ol . 87611-16-20 1 32 61 476
87611-20-16 1.1/4" 25 65 54 L
|| 87611-2020  1.1/4" 32 66 54 FS SAEXSTT 7%= 36000 PSI
87611-24-20 1.1/2" 32 75 63.5 SAE SPLIT FLANGE CLAMPS 6000 PSI/
87611-24-24 1.1/2" 40 75 63.5 1SO6162/SAE J518
87611-32-24 2" 40 85 79.4 (io=; EEAS JR5J Dimensions
87611-32-32 2" 50 85 79.4 Part No. Flange Size A B C E
FL-08 1/2" 56.3 49.2 40.5 18.2
FL-12 3/4" 714 61.8 50.8 23.8
87641 45°SAE % 6000PS] FL-16 " 81 | N4 | 572 | 278
45° SAE FLANGE 6000 PS/ FL-20 1.1/4" 95.3 79.2 66.7 31.8
1SO 12515-3/SAEJ516 FL-24 1.1/2" 112.8 96.8 79.2 36.6
ke ssxmo | #E HoseBore | R<F Dimensions FL-32 2" 1334 1156 968 444
Part No. Flange Size /A %RA7Z DN C H
87641-08-08 1/2" 12 31.7 24
87641-08-12 1/2" 20 31.7 27.5 88111 E&:=
87641-12-10 3/4" 16 41.3 28.2 JIS FLANGE
87641-12-12 3/4" 20 413 31.8
87641-16-16 1" 25 47.6 34.7 ®e e e 3E Hose Bore JR= Dimensions
87641-20-20 1.1/4" 32 54 41.5 Part No. Flange Size ARRAFZ DN A C
876412420  1.1/2" 32 63.5 45.1 OIS S ARATES
87641-24-24  1.1/2" 40 63.5 455 o - - - 88111-10:08 5/8° 12 45 34.2
87641-32-24 o 40 79.4 54.7 88111-10-10 5/8" 16 46 34.2
87641-32-32 PC 50 79.4 597 88111-10-12 5/8" 20 46 34.2

48 49



O
<
=
=
v
g
I
2
g
=
4

- ®

m'. www.kandun.com

- ®
www.kandun.com m'.

88141 45°HiH x>

28641/28641-W 45° F A2l 220607 1A
45° JIS METRIC FEMALE 60° CONE SEAT

45°JIS FLANGE e - -
®re k=Al=  3E Hose Bore JR=F Dimensions
Part No. Flange Size /A %#RA7Z DN A C H
88141-10-08 5/8" 12 58.9 34.2 24
88141-10-10 5/8" 16 70.1 34.2 253
88141-10-12 5/8" 20 76.2 34.2 28.8
88191 90" H &L=
90°JIS FLANGE
= sExfe  HE HoseBore /R~ Dimensions
Part No. Flange Size  AFRA7Z DN C H
88191-10-08 5/8" 12 34.2 48
88191-10-10 5/8" 16 34.2 525
88191-10-12 5/8" 20 34.2 62
18611 A/ H|YNEL60° 905
JIS METRIC MALE 90° CONE SEAT we sy £ #% Hose Bore R~ Dimensions
Part No. Thread E AFRATE DN A S1
18611-14-04 M14x1.5 6 29.5 17
18611-14-06 M14x1.5 10 29.5 17
_—lA 18611-16-04  M16x1.5 6 305 17
7 // . . 18611-16-06 M16x1.5 10 30.5 17
w 60{—- — 18611-18-06 M18x1.5 10 30.5 19
\H 18611-20-08 M20x1.5 12 35 22
18611-22-08 M22x1.5 12 35 24
B 51 18611-24-10 M24x1.5 16 39.5 27
18611-30-12 M30x1.5 20 45 32
18611-33-16 M33x1.5 25 50.5 36
18611-36-20 M36x1.5 32 55 38
18611-42-24 M42x1.5 40 60 46
28611/28611-W /25l 2060 A5
JIS METRIC FEMALE 90° CONE SEAT me . £ & Hose Bore R~<F Dimensions
Part No. Thread E INFRA1E DN A S1 S2
28611-12-04  M12x1.5 6 20 17 17
28611-14-04  M14x1.5 6 21 19 19
28611-14-06 M14x1.5 10 21 19 19
28611-16-04  M16x1.5 6 24 22 22
28611-16-05 M16x1.5 8 24 22 22
28611-16-06  M16x1.5 10 24 22 22
28611-18-06 M18x1.5 10 25 24 24
28611-18-08 M18x1.5 12 24.5 24 24
28611-20-08  M20x1.5 12 28.5 27 27
A 28611-22-08 M22x1.5 12 255 27 27
T 28611-24-08  M24x1.5 12 27.5 32 32
: 28611-24-10  M24x1.5 16 28.5 32 32
2—-_3 48 ——-—J—E— a} 28611-27-10 M27x1.5 16 28.5 32 32
o) %*E]H[”]u]] 28611-30-12 M30x1.5 20 28.5 36 36
M 28611-33-12 M33x1.5 20 31 41 41
28611-W 28611-33-16  M33x1.5 25 32 41 41
28611-36-20 M36x1.5 32 355 46 46
28611-42-24W = M42x1.5 40 36 55 55

= 84y E %KE Hose Bore JR=F Dimensions
Part No. Thread E AFRNIZ DN H S1 S2
28641-14-04 M14x1.5 6 21.3 19 19
28641-16-05 M16x1.5 8 243 22 22
28641-18-06 M18x1.5 10 249 24 24
28641-22-08 M22x1.5 12 27.2 27 27
28641-24-10  M24x1.5 16 29.9 32 32
28641-30-12 M30x1.5 20 335 36 36
28641-33-16 M33x1.5 25 35.7 41 41
28641-36-20  M36x1.5 32 419 46 46
28641-42-24W  M42x1.5 40 455 50 55
28691/28691-W 90° H AN GINEZ160° (A5E E
90° JIS METRIC FEMALE 60° CONE SEAT
= #8sr E XE Hose Bore =T Dimensions
Part No. ThreadE  AFRKFZ DN H S1 S2
28691-14-04 M14x1.5 6 38 19 19
28691-14-06 M14x1.5 10 433 19 19
28691-16-05 M16x1.5 8 44 22 22
28691-18-06 M18x1.5 10 46.3 24 24
28691-22-08  M22x1.5 12 52.5 27 27
28691-24-10 M24x1.5 16 59 32 32
60" 28691-30-12  M30x1.5 20 68.5 36 36
28691-33-16 M33x1.5 25 76 41 41
28691 28691-W 28691-36-20 M36x1.5 32 90 46 46
28691-42-24W = M42x1.5 40 103 55 55
29611/29611-W [ 4 5| A5 2060° A5 [H
JIS GAS FEMALE 60° CONE SEAT
JIS B8363 = 18y E & Hose Bore JX~I Dimensions
Part No. Thread E AFRNIZ DN A S1 S2
= 29611-02-03 G1/8"x28 5 20 14 14
w0 m 29611-04-04  G1/4"x19 6 21 19 19
29611-04-05 G1/4"x19 8 21 19 19
29611-06-04 = G3/8"x19 6 24 22 22
29611-06-06 G3/8"x19 10 23 22 22
29611-08-06 G1/2"x14 10 28 27 27
29611-08-08 G1/2"x14 12 26.5 27 27
29611-10-10  G5/8"x14 16 31 30 30
29611-12-10 G3/4"x14 16 28.5 32 32
° 29611-12-12 @ G3/4"x14 20 28.5 32 32
2 29611-16-16  G1'X11 25 32 41 41
29611-20-20W  G1.1/4"x11 32 43 50 50
29611-24-24W  G1.1/2"x11 40 435 55 55
29611-W 29611-32-32W G211 50 465 70 70

50

51

O
<
IS
=
v
g
I
2
g
=
A



O
<
=
=
v
g
I
2
g
=
4

- ®

m'. www.kandun.com

- ®
www.kandun.com m'.

29641/29641-W 45° [ A 55 15 2060° A5
45°JIS GAS FEMALE 60° CONE SEAT
JIS B8363

67011 /n/ia Ak

= ¥4y E XE Hose Bore JR=I Dimensions
Part No. Thread E AFRATE DN H S1 S2
29641-04-04 G1/4"x19 6 213 19 19
29641-06-06  G3/8"x19 10 24.6 22 22
29641-08-08 G1/2"x14 12 27.5 27 27
29641-12-12  G3/4"x14 20 33.9 32 32
29641-16-16 G1"x11 25 36 41 41
29641-20-20W  G1.1/4"x11 32 46.5 50 50
29641-24-24W  G1.1/2"x11 40 50.8 55 55
29641-32-32W G2"x11 50 60 70 70
29691/29691-W 90°H 7k = (1220607 D 4ETH
90°JIS GAS FEMALE 60° CONE SEAT
JIS B8363
"= 8y E #E Hose Bore JR=F Dimensions
Part No. Thread E N SEES )] H S1 S2
29691-04-04 G1/4"x19 6 38 19 19
29691-04-05 G1/4"x19 8 41 19 19
29691-06-06 G3/8"x19 10 45.8 22 22
29691-08-08  G1/2"x14 12 53 27 27
29691-10-10 G5/8"x14 16 61 30 30
29691-12-12  G3/4"x14 20 69 32 32
29691-16-16 G1"x11 25 76.5 41 41
29691-20-20W = G1.1/4"x11 32 92.5 50 50
29691-W 29691-24-24W  G1.1/2"x11 40 110.5 55 55
29691-32-32W G2"x11 50 133.8 70 70
60011 HExEPiEN BiEk
MT STAPLELOCK MALE
re= %% Hose Bore JR=T Dimensions
Part No. AFRA{E DN A J K
60011-04-04 6 31 15 11
S S 60011-05-05 8 335 18 13
/z_J 60011-06-06 10 33 18 15
TEEE rH e 60011-08-06 10 335 22 18
—| ' 60011-08-08 12 34 22 18
MMLU 60011-10-10 16 39 25 20
60011-12-12 20 40.5 28 24
60011-16-14 22 41 35 30
60011-16-16 25 42 35 30

52

SAE STAPLELOCK MALE
SAEJ1467 = % %& Hose Bore JR=F Dimensions
Part No. AFRAI4ZE DN A J K
A 67011-04-04 6 34 14.9 9.9
60011-06-06 10 35 19.9 13.9
60011-08-08 12 36 239 17.9
60011-12-12 20 37.5 28.9 23.9
| = 60011-16-16 25 44 38.8 30.9
| I — _I_[LJJJJLU_UJ_L 60011-20-20 32 44 45.9 37.9
60011-24-24 40 47.5 54.9 46.9
60011-32-32 50 47.5 63.9 55.9
70011  2dliatn
METRIC BANJO
DIN 7642 = e 4 Hose Bore =T Dimensions
Part No. Bolt NFRA1E DN d D H
70011-10-03  M10x1 5 101 17 10
70011-10-04 M10x1 6 10.1 17 10
70011-12-04 M12x1.5 6 12.1 20 12
70011-12-05 M12x1.5 8 12.1 20 12
70011-12-06  M12x1.5 10 12.1 20 12
70011-14-04 = M14x1.5 6 14.1 24 14
d 70011-14-05 M14x1.5 8 14.1 24 14
~ 70011-14-06  M14x1.5 10 14.1 24 14
70011-16-04  M16x1.5 6 16.1 28 16
T A < 70011-16-05 = M16x1.5 8 16.1 28 16
| " " ﬂ “ | | 70011-16-06  M16x1.5 10 16.1 28 16
| 70011-18-04 M18x1.5 6 18.1 32 20
70011-18-05  M18x1.5 8 18.1 32 20
70011-18-06  M18x1.5 10 18.1 32 20
70011-18-08  M18x1.5 12 18.1 32 20
70011-22-06 M22x1.5 10 22.1 39 25
70011-22-08  M22x1.5 12 22.1 39 25
70011-22-10  M22x1.5 16 22.1 39 25
70011-26-12 M26x1.5 20 26.1 46 30
70011-30-16 = M30x1.5 25 30.1 54 36
70011-30-20 M30x1.5 32 30.1 54 36
700M T
METRIC BOLT
PIN 7643 KE 124 E R=F Dimensions
Part No. Thread E A C S1
700M-10 M10x1 19 6 14
700M-12 M12x1.5 24 6 17
700M-14 M14x1.5 26 6 19
700M-16 M16x1.5 28 6 22
700M-18 M18x1.5 32 6 24
700M-22 M22x1.5 39 7 27
700M-26 M26x1.5 45 7 32
700M-30 M30x1.5 51 7 36
53

O
<
IS
=
v
g
I
2
g
=
A



- ®

m'. www.kandun.com www.kandun.com m'.

72011 o5l 2in 16011SW SAE O E il v izay
2 BSP BANJO SAE O-RING BOSS SWIVEL MALE 2
E RS #2450 £ #EHoseBore 5 Dimensions e 424y E #E HoseBore  R5f Dimensions E
: PartNo.  ThreadE  AFAZDN  d D H A PartNo.  ThreadE  AFAAEDN A 52 g
g 72011-02-03  G1/8'x28 5 99 | 22 16 NN 16011SW-08-06  3/4"x16 10 57.5 27 8
S 72011-02-04 = G1/8"'x28 6 99 22 16 [ EB S . g
= w 16011SW-08-08 | 3/4"x16 12 58 27 3
72011-04-03 | G1/4'x19 5 133 24 | 15 L_E_ 160115W-10-08  7/8'x14 12 59.5 27
72011-04-04 | G1/4°x19 6 133 | 24 | 15 16011SW-10-10  7/8"x14 16 60.1 27
72011-04-05 | G1/4°x19 8 133 . 24 | 15 16011SW-12-12  1.1/16"x12 20 64.9 32
72011-04-06  G1/4"x19 10 133 24 15
— 72011-06-04  G3/8"x19 6 167 29 20
A rrrrre 72011-06-05 | G3/8'x19 8 167 | 29 20 16091KSW  00°SAE S OTF Bl je ik o iz ey
% o 72011-06-06  G3/8"x19 10 167 29 20 .
= | [ | | [TTIITI 72011-06-08  G3/8'x19 12 167 29 20 90" SAE O-RING BOSS SWIVEL MALE
72011-08-05  G1/2"x14 8 210 38 25
72011-08-06  G1/2"x14 10 210 38 25 rRE #24y £ %E HoseBore X Dimensions
72011-08-08  G1/2"x14 12 21.0 38 25 Part No. ThreadE  AFRAZDN H S1 S2
72011-08-10  G1/2'x14 16 210 38 25 16091KSW-08-06  3/4"x16 10 635 19 27
72011-10-10  G5/8"x14 16 230 40 27 16091KSW-08-08  3/4"x16 12 635 19 27
72011-12-10  G3/4"x14 16 265 48 31 16091KSW-10-06  7/8"x14 10 65 19 27
72011-12-12  G3/4"x14 20 265 48 31 16091KSW-10-08  7/8"x14 12 65 19 | 27
72011-16-08  G1°x11 12 333 60 @ 42 16091KSW-10-10  7/8"x14 16 655 22 27
72011-16-12 G111 20 333 60 @ 42
72011-16-16 G111 25 333 60 @ 42
P
7208 il 90011 TR
BSP BOLT . . DOUBLE CONNECTOR . ' '
RS 1240 E 5T Dimensions = & Hose Bore JR=T Dimensions
c R Part No. Thread E A C S1 Part No. AFRAFE DN L
] 720B-02 G1/8"x28 295 48 14 90011-04 6 69
,’7‘ A‘L'{ A 720B-04 G1/4'x19 285 6 19 T 90011-05 8 69
7 720B-06 G3/8"X19 385 7 22 S o 90011-06 10 73
s1 ‘ “ 720B-08 G1/2'x14 44 85 27 90011-08 12 77
— 720B-10 G5/8'x14 485 10 30 M““““—IW“M 90011-10 16 83
. 720B-12 G3/4"x14 56 10 32 90011-12 20 93
720B-16 G1"x11 68.5 13 a4 L 90011-16 25 114
90011-20 32 132
P - 90011-24 40 162
15611SW 5 =it isiar 90011-32 <0 170
NPT SWIVEL MALE
A = 124 & Hose Bore /X Dimensions
FEVENE, bl AFRATE DN A $2 90012 UL
5"/:\»“ . | 15611SW-04-04 Z1/4"x18 6 56 19 DOUBLE CONNECTOR
L I m I, 15611SW-06-06 23/8:x1 8 10 60 22 e 5585 Hose Bore R<f Dimensions
15611SW-08-08  Z1/2"x14 12 66 27 Part No AFRATE DN L
\; S2 15611SW-12-12  Z3/4"x14 20 68.5 32 : e
90012-04 6 83
90012-05 8 87
15691KSW 90° 74 e it oM isiar A . 90012-06 10 87
90° NPT SWIVEL MALE 90012-08 12 o1
3= i@y E B HoseBore  R~F Dimensions 90012-10 16 97
Part No. Thread E AFFRHIZ DN H S1 52 MII_I_I_I_I_I_IJ_LU_U_UJJJJJ_”J_”.L 90012-12 20 110
15691KSW-04-04  Z1/4"x18 6 595 16 19 . 90012-16 25 134
15691KSW-06-06  Z3/8"x18 10 645 | 16 | 22 90012-20 32 153
15691KSW-08-08  Z1/2"x14 12 715 19 27 90012-24 40 172
15691KSW-12-12 Z3/4"x14 20 769 27 | 32 90012-32 50 178

54 55



m )®
www.kandun.com m'-

00621 Ri13Z=FI A EE
INTERLOCK FERRULE FOR R13 HOSE

L
= & Hose Bore JR=F Dimensions
Part No. AFRA{E DN L
CemTTTTTTTTT - 00621-12 20 53
Pt Tl 00621-16 25 66
Lo AR 00621-20 32 88.5 9
o e 00621-24 40 102 =
00621-32 50 108 8
l, \\ Z
00621-R15 R15% =215 et
® INTERLOCK FERRULE FOR R15 HOSE
II . ‘\
,'l ”” \‘\ L = & Hose Bore JR~F Dimensions
! Y _— o Part No. AFRITE DN L
' \ ' 00621-06(R15) 10 40
' \ 00621-08(R15) 12 42
' wowew kandun.com \ ’ 00621-12(R15) 20 53
; ' 00621-16(R15) 25 66
INTERLOCK HOSE FITTING o 2
00621-24(R15) 40 102
\ yaN4 S Fa vt i ROy N 1
x R B Sk ;
\ 1
. 13013-SP =i =0piEiar
\ g BSPT MALE
A} 1
\\ /I A
‘\ / = 84y E KE Hose Bore JR~F Dimensions
\\\ // Part No. ThreadE  AFRA7E DN A S1
N / 13013-12-125P  R3/4"x14 20 38 30
Az 13013-16-165P R1°x11 25 459 38
. 7 1 1T 11T - - 13013-20-205P  R1.1/4'x11 32 513 46
. o 13013-24-245P  R1.1/2"x11 40 532 50
AN e 13013-32-325P R2'x11 50 58.5 65
o T E —Xsi
15613 =08
NPT MALE
®e i@er E % Hose Bore JR=T Dimensions
Part No. Thread E AFRATE DN A S1
15613-12-12  Z3/4"x14 20 375 30
15613-16-16  Z1"x11.5 25 459 38
15613-20-20  Z1.1/4’x11.5 32 513 46
£/ S1 15613-24-24  Z1.1/2'x11.5 40 54.2 50
15613-32-32  Z2'x11.5 50 56.5 65

57



o
=
S
w
w
B
]
=
S
o]
=
[
<

m )®
m'. www.kandun.com

m )®
www.kandun.com m'.

15613 =0 220 60°AHEE
BSP MALE 60° CONE SEAT

22613-ORW == A2y 60° Jh i E OfZE

BSP FEMALE 60° CONE O-RING
S Z£REF. BS 5200

A

= i@er E B HoseBore  /R~f Dimensions
Qw Part No. ThreadE /A2 DN A 2
Y ey — 22613-12-120RW  G3/4"x14 20 26.5 32
6(}“(;[-1.] 22613-16-160RW G1"x11 25 304 41
'¢ 22613-20-200RW = G1.1/4"x11 32 35.8 50
22613-24-240RW | G1.1/2"x11 40 36.7 55
S2
24213-W - FIORFSA 21|
ORFS FEMALE FLAT SEAT
ISO 12151-1/ SAEJ516
A = Wy E %% Hose Bore /R~ Dimensions
SN é _ ; ,;J Part No. Thread E AFRNTZE DN A S2
— — 24213-12-12W  1.3/16'x12 20 4 36
& ¢ 24213-16-16W 1.7/16"x12 25 44 .4 41
=5 24213-20-20W  1.11/16"x12 32 47.8 50
W 24213-24-24W 2"x12 40 482 60
24243-W 45° = 5|ORFSIN 2 -V [H
45°0ORFS FEMALE FLAT SEAT
ISO 12151-1/SAEJ516
= i@yr E - %E HoseBore  X~f Dimensions
Part No. ThreadE  AFRK7E DN H S2
24243-12-12W 1.3/16"x12 20 42 36
24243-16-16W 1.7/16"x12 25 44.6 41
= 24243-20-20W  1.11/16"x12 32 49 50
24243-24-24W 2"x12 40 53.9 60

= 1247 E % Hose Bore JR=F Dimensions
Part No. Thread E ANFRN1E DN A S1
15613-12-12 G3/4"x14 20 37.5 30
15613-16-16 G1"x11 25 41 36
15613-20-20 G1.1/4"x11 32 453 46
15613-24-24  G1.1/2"x11 40 49.7 50
15613-32-32 G2"x11 50 52 60
22613-W = A 60" 9N E
BSP FEMALE 60° CONE
= 1847 E % Hose Bore JR=F Dimensions
Part No. Thread E AFRK4Z DN A S2
22613-12-12W  G3/4"x14 20 26.5 32
22613-16-16W G1"x11 25 304 41
22613-20-20W  G1.1/4"x11 32 35.8 50
22613-24-24W = G1.1/2"x11 40 36.7 55
22613-32-32W G2"x11 50 36.5 70
22643-W 45° =5 A5 20 60° JhEE
45° BSP FEMALE 60° CONE
= w8y E #E Hose Bore JR=F Dimensions
T e Part No. Thread E AFRHAFZ DN H S2
] 22643-12-12W  G3/4"x14 20 325 32
22643-16-16W G1"x11 25 329 41
22643-20-20W  G1.1/4"x11 32 37.9 50
22643-24-24W  G1.1/2"x11 40 45.5 55
22643-32-32W G2"x11 50 52.7 70
22693-W 90° 581220 60° YN
90° BSP FEMALE 60° CONE
=t i@5r E U Hose Bore JR~F Dimensions
Part No. Thread E NFRN1Z DN H S2
22693-12-12W  G3/4"x14 20 67.1 32
22693-16-16W G1"x11 25 72 41
22693-20-20W  G1.1/4"x11 32 88.3 50
22693-24-24W  G1.1/2"x11 40 103 55
22693-32-32W G2"x11 50 123.3 70

24293-W 90" = HIORFSNE AT H
90° ORFS FEMALE FLAT SEAT
ISO 12151-1/ SAEJ516

/

/

52

K=
Part No.
24293-12-12W
24293-16-16W
24293-20-20W
24293-24-24W

i@er E - %E Hose Bore
Thread E AKRAZ DN

1.3/16"x12 20
1.7/16"x12 25
1.11/16"x12 32

2"x12 40

JR=I Dimensions

H
80
88.5
100
114.5

S2
36
41
50
60

58

59

c
=
S
w
W
=
3
=
S
S
=
[
<




o
=
S
w
w
B
]
=
S
o]
=
[
<

m )®
m'- www.kandun.com

26713-W =HJICHEL 74° N 55T
JIC FEMALE 74° CONESEAT
SAEJ514

K=
Part No.
26713-12-12W
26713-16-16W
26713-20-20W
26713-24-24W
26713-32-32W

w8y E #E Hose Bore R~} Dimensions

ThreadE  A#RAZDN A S2
1.1/16"x12 20 265 32
1.5/16"x12 25 294 41
1.5/8"x12 32 323 50
1.7/8"x12 40 35.2 60
2.1/2'x12 50 345 75

m )®
www.kandun.com m'-

26793-W 90° Z=5JICIN 2L 74° (N5
90°JIC FEMALE 74° CONESEAT
SAEJ514

®S
Part No.
26793-12-12W
26793-16-16W
26793-20-20W
26793-24-24W
26793-32-32W

w8y E #UE Hose Bore JR~F Dimensions

ThreadE  AFRHZE DN H S2
1.1/16"x12 20 64.5 32
1.5/16"x12 25 725 41
1.5/8"x12 32 81.5 50
1.7/8"x12 40 101 55
2.1/2"x12 50 121.3 75

10513 AHISNEL24 NEEE RS
METRIC MALE 24° CONE SEAT H.T.
ISO 8434-1/DIN 3861

A =t ey E 4XE Hose Bore &% 42 R~ Dimensions
PartNo.  ThreadE /A# 7% DN Tube O.D. A S2
. 10513-36-12 M36x2 20 25 435 38
2 10513-36-12 | M42x2 25 30 46.4 46
4wl
10513-36-12 M52x2 32 38 52.8 55
52
60

20513-W/20513-T 231508 2024° 555 O/ [E = 5]
METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2/ DIN 3865

*®e
Part No.

A 20513-30-12W
5 20513-30-12T
2437 20513-30-16W
L RINININ
52

20513-42-12T
20513-42-16W
20513-42-20W
20513-52-20T
20513-52-24W

20513-W

20513-T

i85y B 3XE Hose Bore #&F 42 R~ Dimensions
AFRAIZ DN  Tube O.D.

Thread E

M30x2
M36x2
M36x2
M42x2
M42x2
M42x2
M52x2
M52x2

20
20
25
20
25
32
32
40

20
25
25
30
30
30
38
38

A
30
385
319
42
334
38.8
45.2
38.2

S2
36
41
41
50
50
50
60
60

20543-W/20543-T 45° 25l AE2024° 50 = 2|

45° METRIC FEMALE 24° CONE O-RING H.T.
I1SO 12151-2/ DIN 3865

K=
Part No.
20543-36-12T
20543-42-16W
20543-52-20T

20543-W 20543-T

i2ey B #UE Hose Bore &7 4hz /R Dimensions
AFRKZ DN  Tube OD.

Thread E

M36x2
M42x2
M52x2

20
25
32

25
30
38

H
33
359
394

S2
41
50
60

20593-W/20593-T 90° 1~ 5l A5 124° S0 = 27

90° METRIC FEMALE 24° CONE O-RING H.T.
I1SO 12151-2/ DIN 3865

K=
Part No.
20593-36-12T
20593-36-16W
20593-42-16W
20593-42-20W
24° 20593-52-20T

205-9 3-W 20593-52-24W

20593-T

984y B %KE Hose Bore &7 4hz R I Dimensions
AFFAZ DN  Tube O.D.

Thread E

M36x2
M36x2
M42x2
M42x2
M52x2
M52x2

20
25
25
32
32
40

25
25
30
30
38
38

H
67.8
79.5
80.5
91.5
86.5

104.5

S2
46
46
50
50
60
60

61

c
=
S
w
W
=
3
=
S
S
=
[
<




o
=
S
=
w
B
]
=
S
o]
=
[
<

- ®

m'. www.kandun.com

87313 SAE /= 3000PSI
SAE FLANGE 3000 PSI
ISO 12151-3/AEJ516

£

"
www.kandun.com m'.

87613 SAE /= 6000PS!
SAE FLANGE 6000 PS/
ISO 12151-3/SAEJ516

= stxme 3 E HoseBore R Dimensions
Part No. Flange Size AFRKNIZ DN C
87313-12-12 3/4" 20 38.1
87313-16-12 1" 20 444
87313-16-16 1" 25 444
87313-20-16 1.1/4" 25 50.8
87313-20-20 1.1/4" 32 50.8
87313-24-20 1.1/2" 32 60.3
87313-24-24 1.1/2" 40 60.3
87313-32-24 2" 40 714
87313-32-32 2" 50 714
87343 45°SAE 7£=23000PSI
45° SAE FLANGE 3000 PSI
1SO 12151-3/SAEJ516
= e HE Hose Bore JR~F Dimensions
Part No. Flange Size /A #RA7Z DN C H
87343-12-12 3/4" 20 38.1 28.9
87343-16-12 1" 20 44.4 28.9
87343-16-16 1" 25 444 29.7
87343-20-16 1.1/4" 25 50.8 29.7
87343-20-20 1.1/4" 32 50.8 33.8
87343-24-20 1.1/2" 32 60.3 35.2
87343-24-24 1.1/2" 40 60.3 39.1
87343-32-24 2" 40 714 39.1
87343-32-32 2" 50 714 46.3
87393 90°SAE 7123000 PSI
90° SAE FLANGE 3000 PSI
1SO 12151-3/SAEJ516
=t sE2me  HE Hose Bore R=T Dimensions
Part No. Flange Size /A #RA7Z DN C H
87393-12-12  3/4" 20 38.1 62
87393-16-12 1 20 444 62
87393-16-16 1" 25 44.4 67.5
87393-20-16 1.1/4" 25 50.8 67.5
87393-20-20 1.1/4" 32 50.8 78.5
87393-24-20 1.1/2" 32 60.3 80.5
87393-24-24 1.1/2" 40 60.3 94
87393-32-24 2" 40 714 94
87393-32-32 2" 50 714 114.3
62

= sE2xme  ZE Hose Bore JR~I Dimensions
Part No. Flange Size /AR 72 DN A C
87613-12-12 3/4" 20 53 41.3
A 87613-16-12 1" 20 58 47.6
87613-16-16 1" 25 59.4 47.6
%///// S 87613-20-16 1.1/4" 25 67.4 54
) | 87613-20-20 1.1/4" 32 69.8 54
~ | | | _L 87613-20-24 1.1/4" 40 74.7 54
_U—LM-L e 87613-24-20 1.1/2" 32 78.8 63.5
- 87613-24-24 1.1/2" 40 78.7 63.5
87613-32-24 2" 40 91.2 79.4
87613-32-32 2" 50 91 794
87643 45°SAE 7L =6000PSI
45°SAE FLANGE 6000 PSI
ISO 12151-3/SAE J516
re sFme  HE Hose Bore JR=F Dimensions
Part No. Flange Size  /AF#RA7Z DN C H
87643-12-12 3/4" 20 413 31.8
87643-16-12 1" 20 47.6 33.2
87643-16-16 1" 25 47.6 34.7
87643-20-16 1.1/4" 25 54 375
87643-20-20 1.1/4" 32 54 41.5
87643-24-20 1.1/2" 32 63.5 45.1
87643-24-24 1.1/2" 40 63.5 49
87643-32-24 2" 40 79.4 54.7
87643-32-32 2" 50 794 61.9
87693 90°SAE ;6000 PSI
90° SAE FLANGE 6000 PSI
ISO 12151-3/SAE J516
=1 sxFe  ZE Hose Bore R=F Dimensions
Part No. Flange Size /A FRA 72 DN C H
) i 87693-12-12  3/4" 20 M3 66
87693-16-12 1" 20 47.6 68
87693-16-16 1" 25 47.6 73.5
87693-20-16 1.1/4" 25 54 78.5
87693-20-20 1.1/4" 32 54 86.5
87693-24-20 1.1/2" 32 63.5 89.5
87693-24-24 1.1/2" 40 63.5 103
87693-32-24 2" 40 794 103
87693-32-32 2" 50 79.4 1233

63

c
=
S
=
W
=
]
=
S
s}
=
=
<




]
<
=
=
iy
w
v
o
<
O
Q
=
S
K

- ®

m'- www.kandun.com

87913  SAE7:=29000PSI

SAE FLANGE 9000 PSI
= sEx e E Hose Bore JR~F Dimensions
A Part No. Flange Size /A #RA7Z DN A C
87913-12-12 3/4" 20 58.5 413
87913-16-12 1" 20 63 47.6
P e 87913-16-16 1" 25 64.4 47.6
© - - II I - . 87913-20-16 1.1/4" 25 66.8 54
_L 87913-20-20 1.1/4" 32 73.8 54
87913-24-20 1.1/2" 32 80.6 63.5
87913-24-24  1.1/2" 40 80.7 63.5
87943  45°SAE £ 29000 PSI
45° SAE FLANGE 9000 PSI
= sE2me  HE Hose Bore JR=F Dimensions
Part No. Flange Size /A #RA%2 DN C H
87943-12-12 3/4" 20 413 35.6
,,gﬂfmmﬂﬁmmm 87943-16-12 1" 20 47.6 36.7
/_L”_U I[ [l 87943-16-16 1" 25 476 37.5
= 87943-20-16 1.1/4" 25 54 38.2
- 87943-20-20 1.1/4" 32 54 423
87943-24-20 1.1/2" 32 63.5 43
87943-24-24 1.1/2" 40 63.5 46.9
87993 90°SAE 74329000 PSI
90° SAE FLANGE 9000 PSI
= sEx e HE Hose Bore R=F Dimensions
Part No. Flange Size /A #RA7%Z DN C H
87993-12-12 3/4" 20 413 71.5
87993-16-12 1" 20 47.6 73
87993-16-16 1" 25 47.6 78.5
87993-20-16 1.1/4" 25 54 79.5
87993-20-20 1.1/4" 32 54 90.5
87993-24-20 1.1/2" 32 63.5 91.5
87993-24-24 1.1/2" 40 63.5 105
90013 W [EEREN
DOUBLE CONNECTOR
®e %% Hose Bore JR=I Dimensions
S /¥ S Part No. AFRATE DN L
1t 90013-12 20 119
NSRRI, 9001316 2 150
I 90013-20 32 194
90013-24 40 223
90013-32 50 235

64

www.kandun.com

REUSABLE HOSE FITTING

IR E L



- ® - ®
m'. www.kandun.com www.kandun.com m'.

00518 SAET00R5 =l il &1 26718D-R5/26718D-R5W == 5|JICH 12240 74° 1) 1) JIC FEMALE 74° CONE SEAT
FERRULE FOR SAE 100 R5 HOSE . . SAEJ514 o N . .
=] % Hose Bore J=F Dimensions = 24 E ST Dimensions
Part No. #+= Dash L S Part No. Thread E A S1 S2
00518-04 04 28 17 A7| 26718D-04-04(R5) 7/16"x20 22 14 17
00518-05 05 305 19 | S R I | 26718D-05-05(R5) 1/2"x20 254 14 17
5 2w I : 26718D-06-06(R5) 9/16"x18 245 17 19
8821 g_gg 82 4312 ;ﬁ . {:{‘—LLJ 26718D-08-08(R5) 3/4"x16 315 22 24
00218.10 1 acs % s sz 3 26718D-10-10(R5) 7/8"x14 34 27 27
- 2 26718D-12-12(R5) | 1.1/16"x12 37 32 32
00518-12 12 53.5 32 26718D-R5 26718D-R5W 26718D-16-16(R5)  1.5/16"x12 335 38 41
00518-16 16 42 36 26718D-20-20(R5)W 1.5/8"x12 415 41 50
00518-20 20 445 46 26718D-24-24(R5)W 1.7/8"x12 43 46 55
00518-24 24 47 50 26718D-32-32(R5W | 2.1/2"x12 455 65 75
00518-32 32 57 65
26798D-R5/26798D-R5W  90°== I JICIA YR LT 74° (A5 [ 90°JIC FEMALE 74° CONE SEAT
- £ H) fr HE IR &y SAEJ514
I1\/.'/.§$A1/I§L?5 3 5 IR AL re B4 E /~F Dimensions
o re W24 E ##& Hose Bore /X3 Dimensions Part No. Thread E H S1 S2 .
E Part No. Thread E 15 Dash A S1 26798D-04-04(R5) 7/16"x20 335 14 17 E
: 13618-02-04(R5) | Z1/8%27 o 53 12 52?3238?8323 91//126')‘;(2108 3%73 E 1 ; 5
S A s " -U0- . S
= 15618-04-04(R5) | Z1/4°x18 04 30 17 26798D-08-08(R5) 3/4"x16 475 2 24 =
2 | % W 15618-04-06(R5)  Z1/4'x18 06 31 17 26798D-10-10(R5) 7/8"14 T5c 57 57 E
§ | s T 15618-06-05(R5) Z3/8"x18 05 32 19 26798D-12-12(R5) 1.1/16"x12 63.5 32 32 §
60 15618-06-06(R5) ~ Z3/8"x18 06 32 19 - 26798D-16-16(R5) 1.5/16"x12 70 38 41
| | | J 15618-08-08(R5)  Z1/2"x14 08 405 22 26798D-20-20(R5)W 1.5/8"x12 85 41 50
15618-12-10(R5)  Z3/4"x14 10 425 30 26798D-R5 26798D-R5W 26798D-24-24(R5)W 1.7/8"x12 97.5 46 55
. - 15618-12-12(R5)  Z3/4"x14 12 43 30 26798D-32-32(R5)W 2.1/2"x12 118.8 65 75
15618-16-16(R5)  Z1"x11.5 16 465 36
15618-20-20(R5) | Z1.1/4"x11.5 20 51.5 46 _ S 41 S ALAME ST 00° SN TE SAE MALE 90° CONE
15618-24-24(R5) Z1.1/2'x11.5 24 525 50 17818-R5 = HISAESNEZI90" LS 90°Co
15618-32-32(R5)  Z2'x11.5 32 55 65 SAEJ513 — we s E R Dimensions
N |E / 22277 Part No. Thread E A S1
22618D-R5/22618D-R5W |15 20607904 ) '&* 17818-06-06(R5) 5/8"x18 33.7 17
BSP FEMALE 60° CONE . . 17818-08-08(R5) 3/4'x16 42 22
= i L= R=F Dimensions 51 17818-12-12(R5) 1.1/16"x14 51 30
Part No. Flange Size A S1 S2
Y S A 22618D-04-04(R5) G1/4"x19 26 14 19 27818D-R5 ==%|SAENIELI90° A 5 [ SAE FEMALE 90° CONE SEAT
: e 22618D-06-05(R5) G3/8"x19 29.1 17 22 SAE J513 - . ; :
® [ 1w 94\ . | 22618D-08-08(R5) G1/4"x14 35 19 27 Part No. Thread E A S1 S2
J 22618D-10-10(R5) G5/8"x14 355 22 30 ) 27818D-04-04(R5) 7/16"x20 22 14 17
= s/ z N\ 22618D-12-12(R5) G3/4"x14 385 27 32 gu:- " : . 27818D-05-05(R5) 1/2"x20 254 14 17
22618D-16-16(R5) G1'x11 37 32 41 \ 27818D-06-06(R5) 5/8"x18 26 17 22
22618D-R5 22618D-R5W 22618D-20-20R5)W G1.1/4"x11 415 41 50 27818D-08-08(R5) 3/4'x16 315 22 24
27818D-10-10(R5) 7/8'x14 34 27 27
27818D-12-12(R5) = 1.1/16"x14 37 32 32
16718-R5 ==FJICHNZEL 74° SN E
JIC MALE 74° CONE } \ o 26718-R5T — 1JICIHI22074° A4 ELJIC FEMALE 74° CONE SEAT
SAEJ514 RS BRI E FE T SAEJ514
Part No. Thread E A S1 i 1247 E JR=I Dimensions
16718-04-04(R5) 7/16"x20 29 12 Part No. Thread E A S2
A 16718-06-05(R5) 9/16"x18 31 17 26718-04-04(R5T) 7/16"x20 20.5 15
/% 16718-06-06(R5) 9/16"x18 32 17 26718-05-05(R5T) 1/2"x20 234 17
Ve e 16718-08-06(R5) 3/4"x16 34.7 2 26718-06-06(R5T) 9/16"x18 225 19
7 Q< 16718-08-08(R5) 3/4'x16 38 22 ] 26718-08-08(R5T) 3/4'x16 23.5 24
16718-10-10(R5) 7/8"x14 40.5 24 ' 26718-10-10(R5T) 2/8x14 24 27
L oz ne: s L SE M T S
s1 16718-16-16(RS) 1.5/16'x12 44 36 26718-20-20(RST) | 1.5/8"x12 2 50
16718-20-20(R5) 1.5/8'x12 405 46 26718-24-24(R5T) 177812 o e
16718-24-24(R5) 1.7/8'x12 52.5 50 26718-32-32(RST) | 2.1/2x12 26 75

66 67



m )®
www.kandun.com m'-

13011-SP(PO) =5 =024y
BSPT MALE
A K= #2457 E %UE Hose Bore /R Dimensions
- Part No. Thread E AFRATE DN A S1
7 13011-02-04SP(PO)  R1/8"x28 6 17.7 12
I ' 13011-04-04SP(PO) = R1/4"x19 6 20.5 14
P . I 13011-04-06SP(PO) = R1/4"x19 10 22 17
.- RN 13011-06-06SP(PO) = R3/8"x19 10 235 19
et RN \EG 13011-08-08SP(PO)  R1/2'x14 12 305 22
e IS 13011-12-12SP(PO) | R3/4"x14 20 29.4 27
15611-PO /i 54024y
NPT MALE
R N =t 1247 E & HoseBore  /R~F Dimensions
A Part No. ThreadE  AFRAFZ DN A S1
/ Y 15611-02-04PO  Z1/8"x27 6 18.2 12
/! ® Y 15611-04-04PO = Z1/4"x18 6 227 14
’ [ ] \ s
g | ] 15611-04-06PO ~ Z1/4"x18 10 225 14
g M N l J 15611-06-06PO  73/8"x18 10 235 19
B | s 15611-06-08PO ~ Z3/8"x18 12 237 19
! . Sl 15611-08-08P0 | Z1/2"x14 12 29.2 22
! Kk d ' 15611-08-10PO  Z1/2"x14 16 29 22
! wowowe. a n un.c¢com ' 15611-12-12PO = Z3/4"x14 20 315 27
1 1
o
12611-PO =0 2060° 14 5
BSP MALE 60° CONE SEAT “g
A =] #8s E %% HoseBore R~ Dimensions 2
Part No. ThreadE  AFRAE DN A S1 m
‘ ; - N7 12611-04-04PO  G1/4"x19 6 20 14 S
| g R 12611-06-06PO | G3/8"x19 10 22 17
' K 60°| = | 12611-08-08P0  G1/2"x14 12 26.5 22
\ K 12611-10-10PO | G5/8"x14 16 27.5 24
‘\\ /,’ y 12611-12-12PO  G3/4"x14 20 299 27
\\ ’/
22611-PO = 1)124060° 51 i
AN e BSP FEMALE 60° CONE
\\\ ,’/ ®e= B4 E - 28 HoseBore  /R~F Dimensions
\\ /,’ —A4 Part No. Thread E AFRNIE DN A S2
el Pl 22611-04-04PO  G1/4"x19 6 19.5 19
DR T 607 [~ i 22611-06-06PO  G3/8"x19 10 215 22
TTTmeeeeeemT . > i Eu H—jUAU—L 22611-08-08P0  G1/2"x14 12 245 27
5(32 ) 22611-12-12PO | G3/4"x14 20 29 32
22691K-PO 90" 77270 5 N2 20607V
90° BSP COMPACT FEMALE 60° CONE
=1 i85 E & HoseBore R~ Dimensions
Part No. Thread E AFRATE DN H S1 S2
22691K-04-04P0  G1/4"x19 6 185 11 19
22691K-06-06P0 | G3/8"x19 10 24 | 16 | 22
22691K-08-08P0  G1/2"x14 12 265 19 @ 27
22691K-12-12P0 | G3/4"x14 20 33 27 32

69



- ®

m'. www.kandun.com

16711-PO = FJICHNE2 74° IS

JIC MALE 74° CONE
SAE J514 = 124y E #E HoseBore  R~f Dimensions
Part No. ThreadE  AFRAFZ DN A S1
A 16711-04-04PO = 7/16"x20 6 22 12
16711-06-04PO | 9/16"x18 6 22 17
%w 16711-06-06PO 9/16"x18 10 22 17
16711-08-06PO 3/4"x16 10 27.2 22
?4{> w . 16711-08-08PO 3/4"x16 12 27.2 22
\L 16711-10-10PO 7/8"x14 16 30 24
16711-10-12PO 7/8"x14 20 294 24
Sl 16711-12-08P0 ' 1.1/16"x12 12 345 27
16711-12-10PO  1.1/16"x12 16 34 27
16711-12-12PO | 1.1/16"x12 20 334 27
26711-PO ==5JICIH L 74° (N5
JIC FEMALE 74° CONE SEAT
SAE J514 - 124y E %% Hose Bore JR=T Dimensions
Part No. Thread E AFRAFE DN A S2
26711-04-04PO 7/16"x20 6 12.2 15
26711-05-04PO 1/2"x20 6 12.2 17
26711-06-06PO = 9/16"x18 10 12.5 19
26711-08-06PO 3/4"x16 10 12.5 24
Q 26711-08-08PO 3/4"x16 12 14.7 24
E 26711-10-08P0O 7/8"x14 12 15.2 27
§ S 26711-10-10PO 7/8"x14 16 15.7 27
§ 26711-12-12P0 | 1.1/16"x12 20 174 32
% 26711-16-16PO  1.5/16"x12 25 18.6 41
2
26791-PO  90° = HICHEZ 20747 A HE A
90°JIC FEMALE 74° CONE SEAT
SAE J514 i 184y E % Hose Bore JX~I Dimensions
o Part No. Thread E ANFRMN12 DN H S1 S2
S | I 26791-04-04PO  7/16"x20 6 18 11 17
26791-06-04PO  9/16"x18 6 20.5 14 19
- 26791-06-06PO  9/16"x18 10 21 14 19
26791-08-06PO  3/4"x16 10 225 16 24
S2 26791-08-08PO  3/4"x16 12 22.5 19 24
E 26791-10-10PO  7/8"x14 16 27.5 22 27
W 26791-12-12PO 1.1/16"x12 20 30 27 32
27811-PO == TISAENI22790° 4
SAE FEMALE 90° CONE SEAT
SAEJ513 pr=t W25y E & Hose Bore  /R~J Dimensions
Part No. Thread E AFRATE DN S2
A 27811-04-04P0  7/16"x20 6 15
Y 27811-05-04PO 1/2"x20 6 17
7z 27811-06-04PO 5/8"x18 6 22
74° w | 27811-06-06PO 5/8"x18 10 22
27811-08-06PO 3/4"x16 10 24
27811-08-08P0O 3/4"x16 12 24
S2 27811-10-08P0O 7/8"x14 12 27
27811-12-12PO | 1.1/16"x14 20 32

70






